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Business g ro'Wth 
Once a business is established and successful, most owners want it to grow. There are 
different approaches t o growth and you need to understand the difference between them. 

Internal (organic) g rowth 
A business g rows when it sells more 
output over a period of time. Business 
growth is often an important objective 
because it may: 
• help to increase market share 
• lead to lower costs 
• result in more profit. 
Internal growth occurs when a business 
expands by itself, by bringing out new 
products or by entering new markets. 

Methods of internal growth 
(0" New markets - changing the marketing mix 
to find new markets or expanding overseas. 
(0 New products - innovating (developing 
an existing idea or improving an existing 
product or service) or researching and 
developing brand new products that are not 
currently available. 
(0 New technology - large organisations 
can benefit from investing in the latest 
technology or in the ability to develop new 
technology themselves. 

--------------------
External (inorganic) g rowth 
A faster way for a business to grow is 
for it to join forces with another. There 
are two approaches to extemal carowth. 
• Merger - where two or more 

businesses voluntarily agree to join 
up and work as one business. 

• Takeover - where one business buys 
another. To take over a company it is 
necessary to gain control by buying 
enough shares. 

Methods of external growth 
Mergers and takeovers can take place when 
firms join at different stages of production. 

Bacl:ward vertic al - business j o ins with 
one at a previous stage (e .g . a supplier) 

Con,alomerate - + Horizonta l _ 
businesses with no businesses at the 
common business same stac.3e join 

interest join 

Forward vertical - business joins wi t h 
one at a later stage (e .g . a customer) 

------------------~- ---~-~-
Worked exam ple 

State one reason why a business might 
want to grow. 

Other possible answers include to get a bigger 
market share, or to dominate the market 

(I mark) Remember that you do not need to write. lots 
Higher profit when answering ' state' questions - this student 

achieved one mark for stating one reason. 

~-------------------------------------- ~ -

Now try this 
Which of the following is a definition of the term 'merger'? 
Select one answer: 
0 A Two or more businesses voluntarily join together 
O B One business buys enough shares in another business to control it 
0 C Two businesses work together to design a new product 
0 D One business takes over another company 

(I mark) 
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Public limited 
companies (PLCs) 

Public limited companies (PLC5) are able t o raise capit al t hrough selling shares on a stock 
exchange. Thi5 form of business ownership makes it easier for businesse5 to raise money 
for growth. 

Becoming a PLC 30% equity in the business 
sold to the public through 
a stock exchange in order 
to raise share capital to 

30% 

A private limi ted company 
(Ltd) can change into a 
public limited company 
(PLC) through a stock 
market flotation. This is 
where a business issues 
shares for sale on the 
stock exchange. 

---------------------------------------The benefits and drawbacks of being a PLC 
Ability to raise finance through 5hare More complex accounting and reporting 

capital. procedures. 
Limited liability. Risk of potential takeovers. 
Considered more-prestigious and reliable. lncre;sed public and media attention. 
May be able to negotiate bett er prices Less privacy around financial 

wit~ 5upplier5. performance. 
Greater public awareness of business. \ Greater influence on decision-making by 

, external shareholders. 
Becoming a PLC may enable a business 
to grow into a multinatio nal and / 
operate in more than one country. r __________________ _ 

--

Worked example 0 This is just part of ii 
Discuss the likely benefit to a business of becoming .. A a student answer. J 
a public limited company. (6 marks) iJr 

-- .. --

A business might become a public limited compa ny 
in order to finance growth. A PLC can sell shares When answering a 'discuss' question I 
through a stock market, which a private limited you_ must show good understanding ~f 
company cannot. This means that it ·1s able to business c_oncepts and terminology. Look 
raise capital from a wider number of potential through this answer and highlight the ke 
shareholders without the risk of putting the terms and concepts that the student y 
business in debt through taking out a large loan ... has used in this part of their answer. This 

student should go on to explain a second 
- • - - - - - - - - - - - - - ... reason for transforming into a PLC or to 

further develop their first point. =-----

-Now try this 0 
Explain one disadvantage of becoming a public limited company. (3 marks) 
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Financing growth 
To finance g rowth, a business can use inte rnal eource& of finance from within the business 
o r external &ourcee of finance from o utside the business. 

Sources of finance for business growth 

Internal 

I 
Sale of a55et5 

A large business may have 
855et5 that it no longer 
needs, such as fixed 
assets (e.g. machinery) 
or excess stock. Selling 
assets is a quick way 
of raising capital, but 

1 the business loses the 
benefit of owning the 
assets that it sells. 

--=--

Reta ined profit 

Th is is the safest form 
of finance because 
it involves no ri5k. or 
debt. However, profit 
is not guaranteed and 
a business may require 
a more substantial 
investment than it can 
make as profit . 

-
Worked exam ple 0 

Explain one disadvantage to the business of 
borrowing money from a bank to fi nance growth. 

(3 marks) 

If a business borrows money from a bank, 
it has to repay the loan on a fixed- t erm 
basis with interest. A business could then 
struggle to make these regular payments 
and t his could lead to cash-flow problems. 

--- ' 
The student has identified a drawback 
('repay with interest'), then given two I 
linked strands of explanation. 

Loan capital 
A long-term bank loan 
can be secured against 
the bu,e,ines,e,'s assets, 
but interest will be 
charged and the business 
wil l have to make fixed 
repayment,e, to repay 
t he debt. 

External 

Share capital 
A PLC can raise 
considerable capital 
by ,e,elling shares. 
However, selling share5 
put,e, PLCs at risk of 
being taken over and 
all e,hareholders are 
also entitled to a share 
of the profit,e, through 
d ividend!> . 

Comparing sources of finance 
G,f Riek - 5ellinca shares may mean 
owners lose control, or cash-flow 
problems may result from meetinca loan-
repayment terms. 
G,f Cost - The cost of borrowing varies 
across different sources. 
G,f Availability - Some sources, such 
as loans or share capital, might not be 
accessible. 

.. ---- -------~-----------~---------~ ~-- =- -
Now try this 

State one internal source of fin ance that a business might use to expand. 
Explain one benefit to a busi ness of using loan capita l. 

(1 mark) 
(3 marks) 
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Why business 
objectives change 

As businesses evolve and grow, their objectives change, adapting t o their internal needs 
and the external p ressures of the environment. Businesses will also find that objectives 
need to change as they seek to g ro w o r survive. 

Factors affecting business objectives Annual objectives reflect the 
previous performance of a business. 
A change in working culture or the 
business's leaders is also likely to 
influence its objectives so that they 
match the ambitions or personality 
of its managing director or chief 
executive officer (CEO). 

As new competitors enter 
the market or current 
competitors grow and 
become more competitive, 

business may change 
its objectives to become 

Externa l 

Competition 

more competitive. 
-------,:/ Techno logy Legislation 

Objectives may be 
linked to the adoption 
of new technology 
or the innovation 
and invention of new 
products made possible 
by new technology. 

Market conditions 

The economic climate may change 1 

the level of demand and spendin~ 
in the market. A fall or rise in 
demand will influe_nce. a business's . 
ambitions and objectives. 

Legislation may force 
a business to change 
its products and 
services. This may 
restrict the business's 
operations or create 
new opportunities that 
may be incorporated 
into its objectives. 

Yo u can revise 
business objectives on 
pag es 15 and 16. 

-------~-------------------------------
Worked example 0 

Explain one reason why a business might change its objectives (3 marks) 1 

A business might change its objectives because the market conditions 
have changed. This may be caused by customers having less 
disposable income to spend. As a result, the business might decide to , 
lo wer its profit objective in order to make it real istic and achievable. 

Remember to 
develop your 
reasons with 
causes and 
consequences 
when you are 
aaswedag , e,plala' I 
questions. 

--~--~~--------------------------------
Now try this 
Which one of the following is an example of an internal factor that could influence the objectives of a business? 
Select one answer: (I mark) 
0 A Market conditions O 8 Legislation D C Culture D D Competition 
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Bo-w business 
objectives change 

Targets for a growing business 
A growing business may set targets that 
focus on growth, such as : 
• expand the product range 
• enter new markets 
• increase sales 
• increase profits 
• gain a larger market share 
• take over other businesses 
• open new stores 
• increase the workforce. 

Targets for a strugg ling business 
A business that is struggling to survive may 
set targets that focus on survival , such as: 
• decrease the product range 
• exit markets 
• achieve enough sales to break even 
• improve efficiency 
• maintain market share 
• reduce costs, e.g. close stores or 

reduce the workforce. 

---------------------------------------Bow business objectives react to the economic climate 

Shrinking market 
and negative 

economic climate 

Business objectives 

Expanding market 

and positive 
economic climate 

, Retrenchment _ Efficiency Profit Growth . 

Retre nchment is when a business downsizes the scale of its op~rat1ons, e.g. 
by decreasing the range of products it sells or closing some of its stores. ______ .. _ -~---~------------------------

-=---
Worked example 0 The student has 

discussed two 
Discuss why a business might set objectives to reduce costs. (6 marks) reasons why a 
A business might set an objective to lower costs if it is facing the business might 

want to set an pressure of rising inflation, because rising inflation wil l increase its 
costs and t herefore lower its profit margins. If a business can improve r objective to 

reduce costs. it s efficiency, then it might be able to maintain its profits if it can keep 
costs low. Another reason is that a business might want to lower it s Al though both 
prices in order to be more competitive in the market. One way to do points are linked 
this would be to lower costs so that prices can be reduced and profits to profit, they 
maintained. This may work if the business operates in a competitive are two different 
market that contains many similar businesses. points and each is 

well developed. 
J ---------------------------------~------ - ~ --

Now try this 0 
Explain one reason why a business might set an objective to increase recruitment. (3 marks) 
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Business and 
globalisation 

Globalh,ation is where businesses operate internationally and gain a lo t o f influence 
or po wer. Globalisation changes the way businesses operat e and c reates cons iderable 
opportunities and threats. 

Imports: the flow of goods and services 
The im pact of globalisation into one country from another country. 
Globalisation affect s businesses in three Exports: the flow of goods and services 
main ways. out o f one country to another country. 

Globalisati~ 
I 

I I 
Imports Exports 
Globalisation allows businesses Exporting opens up new 
to import products and raw international markets for 
materials at lower prices than bu5inesses and gives them the 
they would be able to produce potential to grow. However, 
them for in the UK, either for operating in international 
resale or to produce their own markets can be very different 
goods . However, importing to operating in the UK and 
increases competition from businesses may face problems 
foreign businesses that are able if they lack the necessary 
to sell directly to UK customers . expertise or knowledge . 

Multinationals 

I Location 

Globalisatio n brings with 
rtunity for it the oppo 

businesses to relocate 
o other operations t 

countries . T 
benefit from 

his may be to 
lower labour 

costs , to b 
materials or 

e closer to raw 
to be closer to 
to which they 

oducts . 
the markets 
sell their pr 

A multinational is a large company with 
facilities and markets around the world. They 
are powerful businesses that can create 

Benefits and drawbacks of 
globalisation for businesses 

New market opportunities. 
Access to technology and resources. 
Threat from foreign competition. lots of jobs and t3rowth when they enter a 

country. However, smaller local businesses 
can lose out, especially in le&S economically 
developed countries (LEDCs) . 

Challenge of adaptint3 products and 
services to meet the needs of foreign 
consumers. 

--------------~--- ---~---------------6' This is a good way '</ii to answer an 'explain' 
question. Give one 

- - ~ --

Worked example 
Explain one benefit of international trade for a UK business. (3 marks) method, reason or benefit 
International trade allows UK businesses to enter new markets and then two linked points 
abroad. This means that they have a greater number of potential of development. Be careful 
customers to sell to and can therefore maximise sales. 4- not to give two separate 

methods, reasons or 
- - .. - - - - - - - ... - - - - - - - - - - - - - - - - benefits if the question 

-~ ~ ---
Now try this 

Define the term 'globalisation'. 
Explain one drawback of globalisation for a UK company. 

only asks for one. 

() mark) 
(3 marks) 
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International trade 
International trade is the exchange of goods and services between countries. Free trade 
is when there are no barriers to trade between countries. However, some governments take 
actions that restrict the flow of imports into their country. This is known as protectionism . 

Tariffs 
Taxes on imports 

Quotas 
Physical limits 
on imports 

Trade 
barriers 

/ 
/ Non-tariff l,arrier& - - -~--J~ 

Imposing quality or Sul,sldles 
safety standards Money given to 

help domestic 
producers 

Trade 1,loes Promoting 
trade between a small 
group of countries 

Reasons for trade barriers 
(0 Protecting jobs in domestic 
indw~tries. 
(0 Protecting emerging (infant) 
industries. 
(0 Preventing the dumping of cheap 
goods on the domestic mark.et and 
the entry of undesirable goods. 
(0 Raising revenue from tariffs. 

------------------------------·-Trade blocs 
One barrier to international trade is a trade bloc. A trade bloc is created when the 
governments of different countries agree to act together to promote trade among 
themselves. These agreements give member nations of the trade bloc preferential treatment 
in other countries within the trade bloc, to encourage trade between the countries. 

Ph1llpp1ncs 

i f 
I 

The Association of 
Southeast Asian 
Nations (A5EAN) 

The North 
American 
Free Trade 
Association 
(NAFTA) 

---------------~-----------

-

- -
Worked example 0 The student has identified 

a relevant trade barrier 
and developed their 

Explain one trade barrier that might have an impact on a business when answer to expla in the 
trading internationally. (3 marks) impact this will have 
One trade barrier is a quota. A business might be affected on a bu~iness trading 
by a quota if the limit is reached in a country. This means that internationally. Remember; 
t hey cannot sell any more of their goods to that country and t~ere 15 no need to 

g ive d f T therefore sales revenues may fall. e Int ions when 
. _ _ _ you answer an 'explain' 

-~- ~ -- ----------Now try this 
State two reasons for imposing trade restrictions. 
Explain one drawback to a UK business of a quota placed on imports. -

question. 

(2 marks) 
(3 marks) 

t 
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Co11tpeting 
internationally 

To compete internationally, a UK business may have to adapt its products or services in order 
to meet the requirements of the country they are sellin'i:I to and the needs of forei'i:ln customers. 

E-commerce 
E-commerce enables businesses 
to access international markets 
without the need to distribute or 
sell their products throuiah foreiian 
retailers. Furthermore, businesses 
can trade 24 hours a day when 
sellinia throuiah e-commerce and 
can promote themselves throuiah 
social media sites. However, trade 
barriers may still apply when sellinia 
over the internet. 

Glocalisation 
In order to sell to international 
markets, businesses o~en have to 
chaniae their products in order to 
adapt to other countries' cultural 
differences, tastes and leiaal 
requirements. This strate'i:ly is 
known as t3localleatlon. 

Customers in different countries have different needs. 
for example, in India consuming beef is illegal in many 
states, 50 a Maharaja Mac is made from chicken instead. 

------~-~----~-------------------------

56 

Bow :businesses change their marketing mix to compete internationally 
Element Stral:e<JY I 
Product . Change technologica l component5 (e.g. 5ocket5) . Change component5 to meet 5afety . Change ta5te to meet cultural preference5 regulation5 
Price . Change price to con5ider tariff5 . Account for currency conver5ion5 I . Comply with different tax law5 . Account for income5 in foreign countri~ --
Place . Change location of product5 in line with local preference5 (e.g. which 5hop5 people vi5it and what 

time they 5hop) 
Promotion . Revi5e adverti5ing campaign5 to take into account the fact that the meaning5 of colour5, ge5ture5 

and phra5e5 are different in different countrie5 

-

Worked e xam ple - .§)ll - - - - Th"is is just part of ii - - - - - - - - - -
'ifl a student answer. -wJ The student has 

Discuss how a business might change its products or services identified a relevant 
1 in order to compete in international markets. (6 marks) meth0d ('to meet legal 

requirements') and 
A business might change its products to compete internationally has given two good 

examples. Examples by changing the features of t he product so t hat it meets t he legal 
requirements of ot her countries, e.g. adapt"1ng electrical components so 
that they are compatible abroad. There may also be legal requirements 
for health and safety that a business is required t o meet, such as 

are a useful way of 
illustrating your point. 
This answer requires 

providing certain information on a label. Providing t his information would more d 
1 eve opment ensure t hat the business was able to meet safety standards for that and 

1 
. t ana ys1s o explain 

country This would _ mean more distributors and retailers would be how this will hel t 
willing to stock their products as t hey would know they are safe. bus· P he iness compete. 
- - ~=-- -

Now try this 0 ----------------------- --
Explain one benefit to a business of changing its product in order to compete internationally. (3 marks) 
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Ethics and business 

Building a 
business 

Ethice are the moral principles that guide the behaviours of individuals and businesses. 
When making decisions, businesses must consider the impact they have on all stakeholders. 

Profits or ethics? 
A trade-off is when something is 
given up in order to gain or achieve 
something else. Businesses must 
balance the drive for profit with their 
ethical principles. 
Paying higher wages and using ethical 
suppliers is likely to raise costs and 
lower profits. However, acting ethically 
can appeal to customers and motivate 
staff, leading to higher productivity and 
more sales. 

Is paying the 
minimum wage fair? 

0 00 
o oO 

should a business 
produce and how 

should it dispose of 
waste safely? 

---------------------------------------
Pressure groups 
Preeeure groups are organisations 
that try to make businesses change 
their behaviour or operations. Pressure 
groups focus on issues such as animal 
rights, workers' rights, the environment 
and world poverty. Pressure groups 
can cause bad publicity for businesses 
that act unethically, which can damage 
the businesses' reputations. 

U5e 5U5tainable En5ure that 
re5ource5 - all product5 

~ / re5afe 

Product 

lncrea5e the 
price paid to 
5mall 5upplier5 

- \ ___________, Pay 5uppliers 
Price fair price5 

where there 
i5 limited 

The impact of pressure 
groups on the marketing mix 

competition 
for 5upplie5 

'\ 
Place 

Promotion 

Provide a=j.a-;;-------- Obey adverti5ing I 
Source local 
product5 information on legi51ation 

packaging ------------------ ---
Examples of ethical behaviour 
by businesses 
(0 Treating workers and suppliers fairly. 
(0 Being honest with customers. 
(0 Ethical sourcinq of materials. 
(0 Investing in the community. 
(0 Meeting government requirements 
and legislation. 

-; 

Worked example 
Which two of the following are not examples of 
ethical behaviour by a business? (2 marks) 
Select two answers: 
D A Paying employees a fair wage 
~ B 
De 

Paying a low price to suppliers 
Placing full details of product content on 
packaging 

D D Carefully disposing of waste 

(0 Caring for the environment and 
operating sustainably. 

E Using non-renewable resources ft :· 

Payin~ suppliers a low price is unethical if the j 
- -

- - - - - - - su_ppl1ers have no choice but to accept the ----------- u price. Non-renewable resources cannot be 
replenished so their use is not sustainable. 

~ - -

Now try this 
0 1 Give one method a pressure group could use to persuade a business to act responsibly. (1 mark) 

@ ..:_ disadvanta~ o b: i'..!:ss being ethical. -· ._. -~- _ (3 marks) 
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Environm.ental issues 
Most business operations will have short-term and lon<3-term impacts on the environment. 
All businesses have to minimise any ne<3ative impact that they have in order to achieve 
long-t erm success. 

Impact on the environment 
,-----------------.-- ---- --~Fl'- The environmental impact of a 

5hort-tenn impacts Lon<:3-term impacts business is closely linked to its 
Traffic congestion through transport and Climate change growth. As busjnesses expand, 
deliveries th "II I L _ ey w1 norma ly have a "'igger 
Air, noise and water pollut ion t hrough Depletion o f land, food and impact on the environment. 
manufacturing and industry nat ural resources 

Reducing the impact 
Recycling is one way of reducing the environmental 
impact of business. Other ways include: 
{0 using renewable ener<3y 

replenishing and conserving natural resources 
{0 using biodegradable packagin<3 

reducing food miles 
{i1 partaking in social enterprises. 

- - =----- -

Worked example 0 

--------
Business opportunitie s 
As consumers are becomin<3 
more environmentally aware, 
there is an opportunity for 
businesses to differentiate their 
products to meet customer 
needs and make them '<3reener ' , 
e .<3. the development of hybrid 
cars. There are also <3rowin<3 
opportunities for businesses 
in '<3reen' industries, such as 
energy conservation and solar 
power. 

Many businesses have set 
up recyclin<3 schemes. 
Waste paper is collected 
and recycled for other uses. 

·---------------
The student has identified a 

Explain one way a business might limit its impact on the environment. re leva11t way and developed 
(3 marks) two points explaining how 

One way that a business might limit its impact on the t his approach will reduce 
environment is by minimising t he amount o f waste it produces. t he_ negative impact on the 

. . . . . . environment The st d This means t hat less waste 1s .-:101 n,., into landfill si tes, which . d · · U ent 
-J -J use spe T -

ensures t hat there is less polluting of the natura l enviro nment. ('I df"II ci ic examples 
ari I sites'). 

---------------~-----------~- .. --- .. --
- =-- -

Now try this 

Give two impacts a business might have on the envi ronment. (2 marks) 
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Product l 
Making ntarket. 

d . 1ng ec1sions 

The variables that contribute to a successful design are function, cost and appearance. 
In order for a business to successfully achieve this design mix, it may carry out scientific 
research and development. 

The design mix of a product can differentiate It from other 
products. For a laptop, the design mix may include the 
following. 
• Function - This is about how well a product does what it 

is meant to. For a laptop, this would include processing 
speed, memory and performance of the software. 

• Co5t - The cost is closely linked to price. Businesses 
will try to keep costs low, but improved functionality and 
appearance will increase cost. The better the technology 
and screen size, the more expensive the laptop will cost to 
produce. 

• Appearance - Style and elegance are important for many 
products. Modern laptops can be found in multiple colours 
and continue to be designed to be thinner and lighter. 

Appearance 

f unction Cost 

Businesses must find the 
ri,aht desi,an mix in order 
to make products that are 
desirable and profitable. 

The product life cycle 

A 
SALES I 

The produc t 15 l;aunched / 
relea5ed onto the mark.et . 

Int roduction 

vVhat pr omofion mdhgd~ 
will e.rcoura9e a.u.5t'ome~ 

to t;naJ a pradu<;:t? 

If t he launch Is 5ucce55ful 
~ 1e5 increa5e 5harply and 

the p ro duct n1ay make a 
profit for the fi~t ttme. 

Growth 

How can we me.et 
t::lemand and oiahlt.ain 

ctf!St:an'!et .sent!or:? 

Sale~ growth 5low5 down, 
but repeat cu5tome~ continue 
t o buy and c u5tomer5 become 

loyal. The market become5 
eia turated a5 rival5 bring 
out competing product5. 

Maturity 

Eventually the product i5 
outdated and t here i5 

a big fall in ~a le~, 
lead ing to withd rawal. 

Decl ine 

SALES 

TIME 
How can 11Je encourage 

repeat. purcha5e and build 
c05~omer loyalty? 

How can we innovate pro~Oc~ te 
compete with competitor:,;? 5tiovld We 

u5e exterision etrateqle5? 

------ ---------------------- - -~ --

Worked exam ple 
A definition sentence 

Define the term 'product life cycle'. . (l mark) should_ be short and _to 
The product life cycle is a business model that represents the point,_ normally giving 
the sales of a product through different stages of its life. two spec1f1c points. 

--------------------------------------~ -
Now try this 0 
Explain one benefit to a business of balancing its product's design mix . (3 marks) 
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Making marketing 

decisions Product 2 
Extension strategies 
Businesses can increase the life of a 
product using extension strategies. This 
involves slightly changing the product so 
that it has a fresh appeal to the target 
market or appeals to a new market 
segment. 

!fl 
IU 
_J 
<i 
!fl 

Introduction 

Product life cycle 

Growth Maturity 

Exte nsion 
&trat e <3ie& 

Decline 

'.hink about how the product f 
life cycle links all aspects of _ TIME 
marketing together. . , 

_ _ _ __j Exten~1on strate<3ies could include a new marketing J 
camp~1gn, a mo_dified product or a change of paclcaging _ 
anything that will create new interest and boost sales. 

----

---------------------------------------
Product differentiation 
Product differentiation is about 
making a product different from other 
products in some way. It is important 
because it helps businesses: 
• to position their products and target 

different market segments 
• to gain an advantage over rivals when 

faced with competition. 
It allows consumers to see clearly that their 
needs are being met more effectively by one 
product than by another. 

Differentiating a product 
(0 Unique and catchy product name 
(0 Quality 
(0 Design, formulation or function 
(0 Packaging 
(0 Customer service 
(0 Differentiation across the value chain 

----~----------------------------------
Worked example 

A 'discuss' question 
0 

Discuss the benefit to a business of differentiating its products and services. can be answered by 
(6 marks) discussing one issue, 

If a business can differentiate its products, then it may be able to with five or more 
create a unique selling point (USP). If the business has a USP, it strands of discussion 
will stand out from its competitors and may be more attractive to developed from 
potential customers. When products are unique, certain customers ' one or two points, 
may also find them more desirable or specific to their needs. If each with some 
a product meets the needs of a specific market segment, t hen development and 
these customers might be happy to pay a premium price for them. explanation. 

---------------------------------------
V h. , Now try t is 0 

Give two methods that a business could use to differentiate its brand. (2 marks) 
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The importance of price 
Making inarkeu 

d . . ng ec1s1ons 

Price is a key part of the marketin<3 mix. The prlcln<3 strate<3y adopted by a business has a 
direct impact on customers' perceptions of quality and value, the business's profitability 
and the demand for products and services. 

The importance of price in the 
marketing mix 
• The price of a product <3ives 

customers an indication of quality. 
• In competitive markets, chan<3es in 

price can have a si<3nificant influence 
on demand. 

• Branded products <3enerally have 
a hi<3her price than non-branded 
products because they are more 
expensive to produce and promote. 

Different types of price 
Luxury brands can char<3e a 
premium price for their 
products. w 

Many pricin<3 decisions are based £45 
on comparin<3 the avera<3e market 
price - what other businesses char<3e for 
their products and services. This is known as 
competitor pricing. 

A low price mi<3ht be used by 
generic/non-branded producte 
or to encoura<3e product trial 
when a product is first launched. 

--------------------------------------
ilSQn'iSR Price and profit Q Costs Q Price t A business may try to improve its profits by -increasin<3 the price of its products and services. ~ inc rease 

lower J profit price If this strate<3y is to succeed, customers must costs 
perceive the business's products and services ,- f---- '-

I to be of sufficiently hi<3h value in relation to f---- '--
' competitors' products. If they do not, the 

I I business may find that its sales volume falls. 
' 

---------------------------------------
- -

Worked e xample 0 
Explain one reason why a business might lower its prices. (3 marks) · 

A business might lower its prices in order to sell off unwanted The student has · 
stock. If its prices fall, this would mean that _ t_heir products would given a va lid reason 
be more desirable and customers may be willi ng to purchase more, and clearly explained 
leading to a higher sales volume. why this minht k 

-:J wor . 

~------------------------------------~ - -
Now try this 

@ I Give one reason why price is important. 
@ 2 Give one reason why a business might sci a premium price fo r its products. 

(I mark) 
(I mark) 
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Making ff'\arketing 

decisions Pricing strategies 
A business may adopt a volume strategy or a margin strategy. A margin etrategy involves 
setting a price that achieves a high profit marC3in . A volume strategy involves setting a 
price with a low profit margin, which requires high sales volumes in order to be profitable. 

Volume and margin strategies 
The choice of pricing strategy will often depend on the nature of the 
product and the quantity of the product that a business intends to sell. 

A business with a high volume low margin 
strategy must be able to keep costs low 
and have the facilities to produce and 
distribute large quantities. - ~ 

High High volume 
low margin 

A business can adopt a 
pricing strategy anywhere 

r,be~~s~ o ~m= 
Low volume 
high margin • 

A low volume high margin 
strategy might be 
determined by the quality of 1 

A4 ~he produ~t and its brand 
image. Businesses using 
this strategy will target the 
premium end of the market. Low Margin 

High 

------------J-----------------~--------------------~-
Technolo,ay - new technology 
can ·1ower the C05ts of 
production and allow a business 
to set a more competitive price 

Competition - a busine55 ha5 to 
con5ider it5 competitors and the 
po5ition of its brand in the market 

Influences on 
pricing strategy I 

Brandln~ - products with a __.------------, -----~---_J strong brand can demand a higher 
price due to the perceived value 
and desirability Costs - a business may set itself a 

profit margin target {e.g. 150%) that 
it 11dds to the co5t of the product 
or service in order to set its price 

Market se,ament - different 
prices may be applied to 
customers with different 
characteristics 

Product life cycle - the 
product's sta"3e in the 
product life cycle will 
influence pricin'3 decisions 

-------- .... ·------------------------------- ~ --

Worked exam ple 0 This is a good answer. Another 
way to approach this question 

Explain one method a business might use to increase its profits. would be to explain how 
(3 marks) changing the pricing strategy 

A business could increase its advertising. This could lead to increased sales 
could lead to greater awareness and interest in its revenue. The student could have 
products and therefore more revenue through sales. referred to a volume or a margin 

strategy. _____ ... _______ . 
- ... - - - - - - - - - ail - ... - --

Now try this 0 
Discuss why a business might only need to sell low volumes of its products in order to be profitable. (6 marks) 
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Prom.otion 
Making .market. 

d . . 1ng ec1s1ons 

Bu5ine55e5 u5e promotion technique5 to create cu5tomer awarene55 of, interest in and 
desire for their products. Effective promotion will also allow a business to build a strong 
brand image and help boost sales at various times. 

Features of promotion methods 
Method Example!! Benefit!! Drawl,ack!I 
Aclvertlaln,a TV, radio, magazines, posters, 

Can have a big impact and t{) Can be expensive and it can 
websites, point-of-sales 
displays, leaflets and brochures 

grab customers' attention ii the also be difficult to work out the 
advert is in the right place and impact of advertising on sales 
uses the right medium ·-· 

Sponaorahlp Sponsoring sporting events, 
Can provide a business with t{) Communicates very little 

music festivals and good 
causes such as educational or 

a lot of exposure and associate information about the features 

environmental causes 
it with a good cause and benefits of products and 

services .. 

Product Free miniatures, product testing Can encourage customers t{) Can be expensive to g ive trial& and samples given away with 
other products 

to use a new product or away free products 
service that they might not try 
otherwise .. 

Special Buy one get one free (BOGOF), Can boost short-term sales f) Not sustainable in the long 
offer& free prize draws and discount 

sales 
and clear stock levels term as selling at a discount will 

reduce profits 
I 

P\,t,llc Using a recognisable logo on all Can encourage customers to f) Takes a long time to develop 1 
relation& promotional materials so that 
You can revise customers remember it and 

connect with the brand, trust it a strong brand and brand image , 

branding in 
more detail on 
page G4. 

------

associate it wi th the product/ 
and become loyal to it can be damaged quickly by bad 

business 
publicity 

The choice of promotion technique or medium will depend on the , 
characteristics of the market segment being targeted (the target market). 

-------· -
This is just part of 
a student answer. ·-

Worked. exam ple -0 

I 
I 

.., - The student has started their 
Discuss the likely benefit to a business of carrying out answer by identifying a relevant 
extensive promotion . (6 marks) benefit. They have then gone 
Carrying out extensive promotion will benefit a business on to link their answer to how 
because people will become far more aware of it and its promotion can lead to a strong 
products. This awareness could lead to customers choosing brand image and the benefits 
the business over other competitors. Consumers are more that this might have. Next, the 
likely t o purchase and trust a brand that they have heard of ;~udent could go on to explain 
over a brand that they have not heard of before . , . e link between promotion and 

- ·- - - increased sales revenue. 

-----~------------------------~~-------~ -

No'W try this o-
Explain one benefit to a business of using product trials to promote new producls. (3 marks) 
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decisions Promotion, 
branding and technology 

Branding 
A brand is more than 
a logo or a slogan. 
Although customers will 
remember a business's 
logo and slogan, a 
brand also represents 
the characteristics 
and personality of a 
business. For example, 

·Tyrr~lls 

• customers may associate a brand with 
characteristics such as 'sophistication', 
'fun', 'value for money' or 'premium quality' . 
A strong brand can be created by investing 
in successful promotion. 

-----------------

The value of a strong brand 
A business may benefit from a strong 
brand in many ways: 
• customers may instantly recognise 

the brand and what it represents 
• customers may associate positive 

characteristics with the brand 
• a well-known brand may become a 

first choice for -customers, increasing 
brand loyalty 

• customers may trust a strong brand 
• a strong brand may allow a business 

to charge a premium for their 
products and services. 

Social media - a cheap form / Apps - businesses• apps for 
of communication that provides consumers and the opportunity to 
opportunities for viral advertising -~---- - -~ advertise through third-party apps 

Technology 
______________-1 in promoti~n 

Email - communications such as -' ---------'-------- Tar-3eted advertlsln-3 - website adverts 
e-newsletters that can be tailored to that use cookies and are targeted at 
the needs and interests of customers particular consumers or market segments 

Through technology, businesses are able to reach a wider variety of customers at a lower 
cost than most traditional forms of promotion. Some forms of technology also allow 
businesses to deliver a personal message specific to individual customers. 

---------· --- -- .. - ... - _._. ________ _ 
- =-- -

w orked example 0 
Explain one reason why a business may want to develop a strong brand. 

(3 marks) 

-Make sure you 
know what a brand 
is and the benefits 
of a strong 
brand. A strong 
brand is one that 
many consumers 

-i 
I 

- A business may want a strong brand because customers t rust brands 
_ that they recognise and are fa mi liar with. This means that cust omers 

may be willing to buy from t he brand wit hout needing addit ional 
reassurance about a product's quali t y and feat ures. As a result, a 
business with a strong brand can expect to achieve more sales. 

recognise and 
have positive [ 
associations wit:J-
1.e. they trust it. 

--- ------~---~------------~--- ------------- - -

Now try this 
Define the term 'viral advertising'. Q 1 

0 2 Explain one reason why a business may choose to launch its own smart phone app. 
(I mark) 

(3 marks) 
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Place 
Place is about making product s and services available to cust omers when and where t hose 
c ust o mers want t hem. There are a number o f channels that a business can use t o make it 
easy for c ust o mers t o access the ir product s and services. 

Channels of distribution 

0 Retail in-3 , 

E!El@SE! 
C [: Cl !J 
Manufacturer Retailer 

0 E-ta ilin-3 , 

EJ.OQIB S 
@El !3.Cl 
Manufact ure r 

Customer 

Cust omer 

8 Ret ailin-3 , 

cm] 
Retailer 

O E-tailin-3 , 

Manufacturer 

Customer 

Third party 
e-tailer 

Customer 

---------------Benefits of retailing 
• Cust omers have the opportunity t o 

browse and try products. 
• Retail ing offers point-of-sale promotion 

(e.g. displays) . 
• Retailers can provide customers with 

help and advice . 
• Many customers enjoy t he experience of 

shopping in a retail store. 

Location 
When choosing a s ite at which to 
locate a retail store, a business must 
consider: 
• cost 
• proximity to competitors 
• proximity to the labour market 
• p roximit y to resources and transport 

links. 
The importance of each factor will vary 
for different businesses. 

~ - ===--- --
Now try this 

Benefits of e -tailing 
• Businesses do not have to rent or own 

expensive retail space. 
• Customers can buy at any time of any day. 
• Businesses can access customers around 

the world. 
• Small businesses are able to compete 

with larger businesses without needing 
retail space. 

-~ --
Worked example 

Expla in one reason why place is an important aspect of 
- the marketing mix. 

(3 marks) 

If a business gets 'place' rig ht t hey will make 
t heir products more accessible to customers. 
As a result it is likely t hat t here will be great er 
customer awareness, which could lead to 
increased sa les over t ime. 

When answering this question, the student 
could have made reference to either 
retailing or e-tailing. 

Which one of the fo llowing elements of the marketing mix does 'on line' represent? 
Select one answer: 
0 A Price 
0 B Prod uct 

0 C Promot ion 
0 D Place 

(I mark) 
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• mix 
The marketinca mix consists of four different elements, but these elements should combine 
to form one joined-up or intee:,rated marketin,a strate,ay that the business use5 to meet 
the needs its customers' needs. 

Linking the 4 Ps 
If one a5pect of the mark.etin,a mix does not link up with the other5, 
it is hie;3hly likely that the business's marketin,a 5tratecay will fail. 

Different products 
can be sold in 
different places, 
as some are more 
suited to e-tailing 
while others require 
the experience and 
customer service 

Increasing the features and function of a product wil l 
have a direct impact on the business's pricinca strategy. 

A product targeted at Product 

a premium market must / ' 
be promoted using 
appropriate channels (e.g. l Promotion } ,. Place If a business uses a high 

provided by retailers. 

magazines or online) to ~ / volume low margin pricinca 
ensure that the message strategy, it is likely that there 
reaches its taraet audience will be very little budget 

-J Price 
available for promotion . . .. .. 

The marketing mix and competitive . 
A competitive advantage 1s an 

advantage advantage that one business has over 
An effective marketinca mix can help a business a competitor. The advantage is unique 
build a competitive advantae:,e over its rivals. and difficult to copy. 
• Product - a product with unique features and a 

stronca brand can be hie;3hly desirable. When reading a business case 
• Price - a business that finds a way to set its prices study, always consider which 

lower than its competitors' will be more competitive. ' P' might be the most important 
• Promotion - a successful advertisinca campaican can for the success of the business 

attract consumers' attention and build a unique brand. in question. For example, in a 
• Place - a hie;3hly visible and convenient business highly competitive market where 

location can help a business attract customers that products are very similar, price 
other competitors cannot attract. may be the most important 
• ... .. ... • ... ... • .. _ _ _ _ element of the marketing mix. 

Worked example 0 
Explain one way that price is connected to place as 
part of an integrated marketing mix . (3 marks) 

Price is connected t o place because some 
products are suitable to sell online as they 
are easy to package and post. As a 1·esult, 
they do not need to be sold in retai l 
stores and can be shipped directly to 
customers. This means that costs can be 
kept down and the price can be lowered. 

The student makes the connect·1on b t I . . e ween 
pace and price in their last sentence. This 
answ~r shows an understanding of how 
e-tailing can help a business I _ ___ ower costs. 

- - =--- --

Now try this 0 
Discuss how the marketing mix can help a 
business gain a competitive advantage. 

(6 marks) 
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Business operations 
and production 

Operations is the business function that orc::,anises, produces and delivers the c::,oods 
and services produced or provided by a business. It is the key function that transforms 
resources into fin ished c::,oods (a physical product) and services {a solution or utility). 

The production process 
The p roduction process involves a business 
usinc::, its resources (e .c::,. raw materials, 
finance and the skil ls and knowledc::,e of its 
workforce) to produce c::,oods and provide 
services t hat customers ca n buy. 

Production methods 
A business may use one of three different 
production methods. The choice of method 
will depend on the nature o f the product 
and the level of production . 

0 Desiqn e Manufac t ure O Asse~ bly 

¢ ~ ¢ ~ 

& Deliver · C~ ntrol O TQ Ji' 

Job production Batch production 

1,1 

. a hou5e 
I extension 

I, ,, 
'I f.q. a batch of 

,_ cupcakes 
ii .- l 

f.q .• 
mass-
produced 
laptop 

One-off or bespoke product s 
Focus on customer needs and 
ind ividual service 

Larger volume of products than job 
production 

• High vo lumes and low mar'3ins 
(with high productivity) 

Some flexibil ity (e.g. different flavours) • Standardised production 
Specialist skilled workforce increases 
COStS 

• Semi-skilled workforce • Low skilled workforce 
• Some levels of automation • Highly automated process 

Hiq h profit marqins 
Lon er production process 

• Productivity reduced when switchint:3 
between batches 

• Setting up expensive 
machinery increases costs ----------------

Production and competitive 
advantage 
Operations is linked to productivity, 
flexibility, cost and quality. for example, if 
a business can provide custom products 
and services, this will make their products 
more desirable to customers. Similarly, 
controllinc::, production costs can allow 
a business to lower prices or increase 
profit marc::,ins. You can revie.e the definition of 
productivity on paqe 68. 

-- =- -
Now try this 
Defi ne the term 'job product ion'. 

Worked exam ple 0 
Explain one benefi t to a business of improving its 
productivit y. (3 marks) 

If a business improves its productivity, it 
wi ll have more products t o sell t hat are 
produced at a lo wer cost. This means t he 
business can improve its profit margins 
and wil l have more produc ts to sel l t o its 
cust omers. 

The student has made t he connection 
between productivity, costs and profit. 

(I mark) 
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Business operations 
and technology 

Technology used in business 
operations 
Examples of technolo,ay used in businesses' 
production processes include: 
(0 computer-aided desi,an (CAD) 
(0 supply chain mana,aement (SCM) 
(0 ,aeo,araphical positionin,a systems (GPS) 
(0 electronic point of sale (EPoS) 
q 30 printin,a 
(0 e-commerce. 

··---------
Economies of scale 

Economies of ecale j5 

The impact of technology 
on operations 

Speeds up the production process. 
ti Keeps businesses in touch with t he ir 
customers. 

Lowers production costs. 
Ensures fewer mistakes and defects. 

f) Can involve a costly initial investment. 
f' Can quickly become obsolete. 
fi Requires employees to be trained 
to use new technolo,ay . ............. __ ....... ______ _ 
Productivity 

a terrn that de,ocribe,o I 
the 5ituation where 
the averaqe cost,o of 
production fall as the 

Productivity is output per work.er. 
It measures how much each work.er 
produces over a period of t ime. 

volume of production I 
increase5, Thi5 is an 
advanta1:3e that businesses 
9ain as they 9row in size. 

lncreasin,a productivity leads to 
,areater competitiveness in a mark.et. 
Productivity can be improved by 
increasin,a output or by lowerin,a the 
costs of production (inputs) while 
maintainin,a output . 

Output . -- -
Factors influencing the use of 
technolog y 
There are =veral factors that need to be 
considered when a business adopts the use 
of technolo,ay in its operations. Technolo,ay 
can have an impact on each of these factors 
and they all need to be balanced. for example, 
a technolo,ay that improves productivity may 
have a ne,aative impact on quality. 

Productivity ~ _____ L : _ 
Factors affecting choice of technolog;J 

Flexlt>lllt y 
- - ==--- -

Quality 

Now try this 

--- ~- -
Worked exam ple 0 

Discuss how investment in technology can help 
improve the productivity of a business. (6 marks) 

One way t hat technology can help improve 
productivity is by speeding up t he 
pmduction process. Many businesses use 
robotics and computel'-aided manufacturing 
to make their products. Although this can 
be more expensive, a computer-operated 
machine can pmduce more products than 
a human can and wi th fewer errors . .. 

The student has used a \J This ls just 
go.~d example to illustrate parL of a 
thei r po int. How would you sLudent 
finish thi5 answer? ... answer. -

Give two methods a business could use to reduce costs in the production process. (2 marks) 
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Managing stock 
Making O • perationaJ 

decisions 

Mana,ain,a stock is about mana,ain,a the materials that a business holds in the most efficient 
and effective way. Stock can include materials waitin,a to be used in the production process, 
work in pro,aress, and some can be finished stock waitin,a to be delivered to customers. 

Interpreting bar gate stock graphs • The maximum stock level is the most 
Stock level stock that a business can hold. 

1000 - - ~-- --,----,c-- - -- M . • The re-order level is the level of stock - ax1mum . 
stock at which new stock will be ordered by 
level the business. The difference between 

500 ---'',-+--+--+---\--!- ---'- -- Re-order 
level 

this level and the point at which stock 
increases is the time it takes for the 
stock to arrive. 

_ _ _.,._ _ _ ___,. ___ _,_ _ _ ___ Minimum • Also known as buffer stock, the minimum 

0 +-- ~---- - - ------ ~::;k stock level is the lowest amount of stock 
o 2 3 4 Weeks the business will hold. It is a safety net in 

case there is a surge in demand. 
___ .. _,...IP ___ _ 

Just in time stock control 
Just in time (JIT) stock control is a stock management system where stock is delivered only 
when it is needed by the production system, and so no stock is kept by a business. For JIT 
to work, a business must have ,aood relationships with suppliers, a well-organised production 
system, and regular demand for their products. -

Bolding stock , ~.;-- . 
Benefits of holdin,a stock: m·" :~ < . - I 
@ Any unpredicted sur,aes - · · "'.! = f 
in demand can be met. . I 
@ Dama,aed goods can be replaced. 
& Businesses can receive discounts 
for bulk buyin,a. 

Limited risk of problems supplyin,a 
customer demand. 

Benefits of holdin,a little or no stock: 
(0 Cost savin,a in not 
havin,a to store stock. 

Less chance of damaged 
or stolen stock. iii' 
(0 Employees can focus on 
tasks other than mana,ain,a stock. 
(0 Can reduce costs of production, which 
makes product pricin,a more competitive. 

I 

Worked example 6'. --------- Always show workings when .. 

'it,# Stock level 
answering a 'calculate' question. 

The diagram illustrates the bar gate stock for Movin' 
Mice at the Chipping Toy Box. 
Using the diagram, calculate how many weeks it will 
take for stock of Movin' Mice to arrive at the Chipping 
Toy Box after re-ordering. You are advised to show your 
workings. (2 marks) 

St ock is ordered in week 3 and arrives in week 
8 . Therefore 8 - 3 = 5 weeks. 

-- ~ -

95 ~ --~ ~---~-

25 

Re-order 
level 

.._ _ _,_ _ ___. __ .,___ ...1 Number 0 o 5 10 15 of weeks 

Now try this o ----------- --------------
Using the diagram in the worked example, identify the number of Movin' Mice the Chipping 
Toy Box holds as a buffer stock. (I mark) 
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Malting operational 

decisions Suppliers and 
procurement 

Choosing the right supplier to work. with ls an important decision for a buslne55, Suppliers 
can have a significant impact on a business's cost5, flexibility, reliability and cu5tomer relations. 

Working with suppliers 
A busine55 may use one supplier or 
many 5uppliere. 5upplier5 are a key part 
of a busine55'5 operation and finding 
the right supplier could be crucial 
to a business's competitiveness and 
5ucce55. 6u5ine55e5 may consider 
5everal different factors when choosing 
a supplier. One factor may be more 
important than others due to the nature 
of the product5 and the bu5iness. . .. .. . 

What makes a good supplier? 
{0 A good price (value for money) on 
products and delivery 
{0 Flexible deliveries 
{0 Reliable deliveries 
(0 Discounts for large orders 
{0 High-quality supplies 
(0 Availability of products (short lead times) 

.. -----------------
The impact of logistics and suppliers 
Suppliers and lo13istics can have a significant impact on the operations of a business. 
A business needs a supplier they can trust. 

Flexible 5upp1·1er5 can help 
a bu5ine55 meet cu5tomer 
need5 more ea5ily. -,-

'1r~· 
The 5ervice5 provided by a 
5upplier can directly influence 
the reputation of the bu5ine55 
that u5e5 it5 product5. 

worked exam ple 

Late deliverie5 can J 
hold i '':!_"cti~ 

Poor quality can lead to 
di55ati5fied cu5tomer5 and 
product5 being returned. ----i, 

c:;icJE::l ~ o ==========> 
Customerst • Wi 

Securing good contract5 andJ / 1111L_ 
5upplier agree~ent5 can help 'W"II.J 
a bu5ine55 achieve economie5 u5ing a 5upplier to deliver 
of 5Cale a5 it grow5. product5 directly to 

cu5tomer5 can be ri5ky if 
they are not reliable. 

0 
Explain one reason why a good supplier relationship is important for a business. (3 marks) 

A good 5upplier relation5hip could en5ure t hat the 5upplier i5 willing to be flexible. Thi5 might 
mean that the bu5ine55 i5 able to change order5 at 5hort notice and get raw material5 and 
product5 delivered quickly. A5 a re5ult, t he bu5ine55 will be better equipped to meet it5 
cu5tomer5' need5. r-

- _ _ _ _ _ _ _ _ The 5tudent ha5 made a connection between a good . _____ _ 
5upplier r~_lation5hip and the impact thi5 could have - - - -

Now try this on the ability of the bu51ne55 to 5ati5fy it5 cu5tomer5. 
----- -

Define the term 'stock' . 
Explain one factor that a business may consider when choosing a supplier. 

(l mark) 
(3 marks) 
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Managing quality 
Making O • 

d . ~erationaJ 
ec1s1ons 

There are two ways of achieving good quality in business: quality control and quality 
assurance. 
• Quality control is seen as one part of the chain of production. A quality controller will 

examine and/or test for quality once a product has been made or a service has been 
delivered. 

• Quality assurance involves focusing on quality at every stage of the production process. 
Everyone is involved and is responsible for contributing to the achievement of a quality 
standard. As a result, there should be zero defects. 

The benefits of good quality 
(0 Good quality allows for a premium 
price to be charged . 
(0 Good quality builds a strong brand 
image. 
(0 Good quality is closely linked to 
meeting customer needs and can help 
provide a competitive advantage. 
(0 Quality is a way of differentiating 
a product. 

Quality also ensures 
that there is less waste 
because there are fewer 
faulty products, which 
helps businesses to 
control their costs. 

Quality assurance checklist 
A quality assurance system requires a 
business to: 
(0 have quality as the focus of every 
process 
(0 involve customers and suppliers at 
the design stage 
(0 aim for zero defects 
(0 have quality as the responsibility of 
every employee 
(0 have managers who ensure there are 
systems in place to assure quality 
(0 meet a quality standard, such as 
150 9000 
(0 make good quality part of the 
business's culture, so it is something 
everyone aims for and is involved in. 

-- - - - - -
Worked exam ple 

.. o ________ _ 
This is just part of a 
student 's answe r. 1----

Discuss the reasons why a business may choose to adopt quality 
assurance in the production process. (6 marks) 

The student has identified 
a reason for using quality 
assura nce. They have t hen 
gone on to develop t heir 
answer with multiple strands 
o f reasoning to explain the 
benefits the business might 
receive. The student could 
now go on to explain a 
second point, with several 

A business might choose t o use quali ty assurance because 
it ensures t hat every employee takes responsibility for t he 
quality of the products and services they produce, instead 
of a small number o f quality cont ro l officers. Consequently, 
there will be a lower proportion of faul ty products and 
customers who are dissatisfied with the service t hey 
receive. This wi ll he lp a business bu ild a sol id reputation for 
quali ty and avoid the costs associated with repairing or '-_ more linked strands of 

development. , replacing fa ulty goods . . . 

- -- - -----------------Now try this 
Explain one benefit to a business of producing high-quality products. (3 marks) 
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Making op.erational 

decisions Custo:a:ner service 
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and the sales process 
Many customers place the greatest value on the customer service they receive from a 
business, even more than the price they pay or the quality of the product. Customer 
service is one way that a business can add value to its products and services. 

The importance of customer service 
Good customer service leads to: 

satisfied and loyal customers 
positive brand image and reputation 
differentiated products with a competitive 

advantage 
increased sales and repeat purchasing . 

Poor customer service leads to: 
ff) poor customer satisfaction and low 
customer loyalty 
ff) poor brand image 
ff) inability to d ifferentiate products and to 
charge premium prices 
ff) falling sales and repeat purchases. 

The sales process 
The sales process identifies the key 
stages of buying a product or service 
that contribute to customer satisfaction. 
This means that it is an important part of 
providing excellent customer service. 

A customer 

/ V interest 

A Customer • 5peed and 
W loyalty V efficiency 

; seNice 

0 Post-sales e Customer ,.__ , 
service ' engagement 

--------------------
Factors affecting the sales 
process 
Some products have a short sales 
process (e.g. a bar of chocolate), while 
others may involve an extended sales 
process over a number of months (e.g. 
a house purchase). A business needs 
to manage each stage of the process 
effectively to ensure the sale is complete 
and customers are totally satisfied. 
Depending on the product or service 
being sold, the business may need to 
consider: 
• t he product knowledge of its sales staff 
• the speed and efficiency of its service 
• customer engagement with its products 
• its responses to customer feedback 
• the post-sales service that it provides. 

=-- -

Now try this 
, Give two drawbacks to a business 

of poor customer service. (2 marks) 

Considering the sales process 
Businesses may consider these questions 
about the five stages of the sales process. 

0 

e 
0 

0 

0 

How can we grab the attention and 
interest of potential customers? (e.g. 
using emotive language in advertising) 

How can we ensure that we respond 
to customers' needs promptly? (e.g . 
ensuring all customers receive a call 
back within 1 hour) 

How can we build relationships with 
customers and meet their needs? 
(e.g. having regular communication with 
customers and inviting them to special 
events) 

How can we ensure that customers 
remain happy after buying our 
p roducts? (e.g. using follow-up surveys 
to measure satisfaction levels) 

How can we encourage customers to 
continue to buy and engage with our 
brand? (e.g. making customers aware of 
new product launches) 
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Gross and net prof it 
Making financial 

decisions 

When managing the finances of a business, it is useful to distin'.i:)uish between two specific 
measures of profit - gross profit and net profit. You may want to revisit profit on page 18 before you 
revise gross profit and net pro fit on this page. 

Calculating gross profit and net prof it 
Income Statement: Year 1 
Sales (Revenue) 

Celebration cakes 8979.00 

Cakes stocked in store 2742 .00 

Cafe cakes G379 .00 

Total sales 18100.00 

Cost of sales: 

Materials and ingredients 3218.00 

Gross profit 

Expenses (Costs) 

Interest on bank loan 

14882.00 

240.00 

Rent , business rates etc. 1G20 .00 

Salaries 7400.00 

Equipment 4 repairs 3317.00 

Electricity, water etc. 743 .00 

Total expenses 13320.00 
Net income (profit/loss) (1562 .00) 

A profit and loss account for ABC Trading Ltd 

Gross profit is the profit that a business Quantitative 
skills 8:9 makes on its trading activity before an 

indirect costs have been deducted. LEARN IT! 

Gross profit = Sales revenue -
(or turnover) 

Cost of sales 
(the cost of buying, 
producing and distributing 
products and services) --~ 

Quantitative 
skills 

Net profit (also known as the 
bottom line) is the profit that a 

business is able to return to shareholders (owners) or 
reinvest back into the business. Iir1 

\}.EARN 
Net profit = Gross profit - Other operating 

expenses and interest 

--------~~--------~-~-------- --- - ---·- -- --
Improving profit - - - - ::.-=--=--=-----~ · f 1ncrease 

A business can improve profit by lowering costs or 
increasing revenue. However, this can cause problems. 

Profit 

• The problem with increasing revenue is that the _ Lower __ _ 
methods used can also increase costs. costs! ,----f...,:..:..:_ 

• The problem with lowering costs is that doing so can 
detract from the value of the product or service, 
reducing the business's ability to make revenue . 

Costs Revenue 

revenue 

Lowering costs 
and increasing 
revenue are 
two ways of 
improving 
profit . 

----------~------------------------------

Worked example -0 1,1._.& - The student 
..... 8:9 has clearly 

Using the profit and loss account for ABC Trading Ltd above, shown the steps they have 
calculate gross profit. (2 marks) taken to calculate the gross 

Total Cost of sales Gross ' LEARN ITU, - profit, starting with the 
sales (direct costs) profit ~'-~===-=---- formula. The direct costs in 

£ 1810 0 £ 32 18 £14882 this example are the materials 
and ingredients of the cakes. 

- - ~ --

Now try this 0 
Explain one reason a business might calculate its gross profit. (3 marks) 
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Prof it margins and ARR 
A profit martain i5 the ratio of profit compared to sales revenue. Businesses will calculate 
the t:JroH profit martain (GPM) and the net profit mal"':Jin (NPM) of their products and 
5ervices. Profit mar'3ins '3ive an indication of a product's profitability. 
Income Statement: Year 1 
Salea (Revenue) 

Celebration cakes 8979.00 

Cakes stocked in store 274 2 .00 

Cale cakes 6379.00 

Total aale" 18100.00 
Cost of sales: 

Materials and in':lredients 3218.00 

Groaa profit 

Expenaea (C0&ta) 

Interest on bank loan 

14882.00 

240.00 

R.ent , busine55 rates etc. 1620.00 

Salaries 7400.00 

Equipment t repairs 3317 .00 

Electricity , water etc . 743.00 

j Total expenaea 13320.00 
, Net income (profit/loss) (1562 .00) 

The GPM indicates the proportion °;.t a ... •t~!~= sales revenue turned into gross pro 1 • 

For example, a 40% GPM indicates that 40p in every £ 1 of 
sales becomes gross profit. 

. . o/c) _ Gross profit x 100 
Gross profit margin ( 0 - S I e ~--- -=Ti_J, a es revenu (!;EA'RN IT, 

~s;mwmtm The NPM indica~es the prop~rtion of sales I 
E£9 ____ revenue turned into net profit. For 
example, an 8% NPM indicates that 8p in every £ 1 of sales I 
becomes net profit. 

Net profit margin (%) = Net profit x 100 -----:::::: I 
__________ s_a_i_es_ re_v_e_nu_e __ t1EA'RN IT}] 

----------------~----------------------
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iJ~QWS@[B Average rate of return (ARR) LEA'RN IT! 
Avera'3e rate of return (%) = Average annual profit (fotal profit / No. of year5) x 100 

Co5t of inve5tment 
A busine5s will calculate the avera'3e return 
that it receives on an investment over the 
inve5tment'5 life 5pan as a percenta'3e 
of the initial C05t of the inve5tment. The 
calculation is used to compare different 
inve5tment opportunitie5 to identify which 

Year 

0 
1 
2 
3 
4 

Net cash flow (£) 
0 Ion A: New machine on 8: Extend fa 

(£600000) (£10000 
£200000 £300 
£300000 £300 
£200000 £300 
£100000 £300 

is the m05t profitable. Table 1: Investment opportunities for ABC Trading Ltd 

-

Worked example 
A number shown in brackets 
is negative, or a cash outflow. J 

Using the information in Table I, calculate the average rate of return for Option A. (2 marks) 

Average annual profit = (200000 + 300000 + 200000 + 100000) = £ 200000 4 
Average rate of return = Average annual profit (Total profit/ No. of years) 100 Cost of investment x 

Average rate of return = 200000 x 100 · ltA .--•"'•-• 3o/c G00000 r:;;..wtl11rtww An ARR of 33. 0 

Average rate of return = 0 .3333 x 100 = 33.3% e; · ..... suggests that, on 
average. this project gains a return of 

Now try this 
"6'. _________ , 33.3% each year based on the ·1nit'1al 
'Q# investment of £G000OO. 

Define the term 'average rate of return' . (I mark) 
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Interpreting 
quantitative business data 

Businesses use ~uantitatlve data from a wide variety of sources to make informed 
business decisions. The accuracy and rel iability of th is data Is extremely important in order 
to help businesses make the ri<3ht decisions. You can revi,e t he uoe o f dat a In market re,earch on pa<3e 10 . 

Uses of data 
A business will use q uantitative data to: 
• monitor t he performance of the business 
• compare it s performance with that o f its 

competito rs 
• ant icipate the needs of customers or 

identify trends in the market 
• make business decisions, e .<3 . productio n 

volume and sales tar<3ets 
• set business aims and objectives. 

Graphs and charts 
Graphs and charts can be created usin<3 
quantitative data t o : 
• demonstrate the re lationships or 

correlation between two sets o f data 
• represent proportio ns (percenta<3es) 
• show trends over time and make forecasts 
• measure the performance of a business 
• identify unusual facto rs or events, and their 

impact o n the business. . _____________ . .., .. -----
I ilH~MUPlf lnterpreting graphs and charts 

A <3raph is a visual 

Make sure you 
understand what' the 
axes re.present. Coriskler 
whetfier the -5raph or 
sJ,a rt. shows any of the 
factors fisted" above. 

.. ..4 representation of 
c:'Jf' business dato. 

@ Lb :::~t~-~~t::;r:t 
] 20% • • visual representation 

'il'l ..v 'I( 

<0 70% ..: § , (e.g. a pie char t) that 
shows differences in 

T,me Number o f information. 
purchases 

----------------------~--

Worked exam ple 0 g~~rr!IW Be prepared to read financial data 
el :: L from tables and charts in your exam. 

-:o-;;;-- - -The chart shows the sa les volumes for a business 
during its first three months of trading. The selling 
price of its product is £250. 
Calculate the business·s revenue fo r the first three 
months of trading. (2 marks) 

Revenue = Price x Ouanti t y @ RN tfil 
Jan revenue = "1 000 x 250 = 1000000 

Feb revenue = 5000 x 250 = 1250000 

Mar revenue= 2500 X 250 = G25000 

" C 
§ 
0 > 

" 'ii 
<f) 

5000 

4000 

3000 

20 0 0 

1000 

0 

Total revenue for fi rst three months = £ 2 8 7 5 000 

January February 

Month 

March 

----------------No-W try this 
Ex plain one way that a business might use it s historica l sales revenue figures. (3 marks) 
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Lintitations of 
quantitative data 

Quantitative data is information that can be expressed in numbers, such as percenta,aes, 
ratios, profits and indices. financial data is a particular ly important type of quantitative 
data used in business. 

financial 
Costs accounts Interest 

Demographic5 Numl:>er of 

Sales flgure,J---- \_ /~rates 
revenue Financial ___ Tax 

\ / competitore, 

Market ---- Size of 
data market Customer data 

satisfaction ratinc3s \ 

Customer - - -~-- Marl:etln,a"'-- 1 Types of data that businesses 
visits / data "'--_, ___ u_s_e_ t_o_m_a_k_e_ d_e_c_•_· s_i_o_n_s _ _ __J 

----------- Growth 
of market 

Customer opinion5 

---------- ------------------------The limitations of financial data 
There are several limitations of financial data that businesses need to consider when makin,a 
decisions that are based on financial information. 
• It is historical - when usin,a financial data, businesses will make decisions about the 

future based on past performanc::e. 
• The reaeone behind _the numbers - the fact that sales revenue has fallen mi,aht not be as 

important as understandin,a the market factors that led to the fall in revenue. 
• Statistics can be rrianipulatec:c..:. facts can be expressed in different ways to ,aive them 

a different emphasis. 
• Business performance is not solely jud,aed on financial performance - there are many 

other '\Ualitative facfors that need to be considered, e.,a. business reputation and 
employee motivation. 

~ -

Worked example 
The diagrams show data on smoothie consumption. 

(a) Using the information in the diagrams, identify 
the most popular time to buy a smoothie. 

(b) 
(I mark) 

Using the information in the graphs, identify 
how the majority of people prefer to consume 
a smoothie. (I mark) 

(a) After lunch (1 to 5 p.m.) 

Smoothie sales throu,ahout 
the day 

14% 
Before 
11 a.m. 

41% 30% 

-------
Smo othies: a &nack. 

or a meal? 

59% 
Snack 

25% 

After lunch During lunch rush I ''§%J" 
(b) As a snack (59%) <1 to 5 p .m.) <11 a.m . to 1 p .m.) 

· li!lSf:IPSW ldeoWY 9,e,t;oos ce9, 1!;,, to lotecpcet lofocm,tloo from , gcaph 
chart or diagram. M~ ke sure you practise reading t hese. ' 

- ~ - -

Now try this 0 -_-----------.:::_ ----------
Discuss the reasons why a business should be cautious when using fi nancia l data to make business decisions. 

(6 marks) 
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Organisational structures 
Organisational structure is the way in which a business is structured to achieve its 
objectives. This is normally through a hierarchy. A hierarchy is a structure of different 
levels of authority in a business organisation, one on top of the other. 

Hierarchical and flat structures 
A business with a hierarchical 
structure has a long chain 
of command . This makes the 
business easier to control 
and provides opportunities 
for promotion, but it can be 
costly and slows down effective 
communication . A hierarchical structure 

A business with a flat 
structure has few levels 
of management but a wide 
span of control. This 
improves the business's 
flexibility but lines of 
authority are not always clear. 

A flat structure I 
1/ 

Organisation charts 
A business's organisational 
structure can be shown using an 
organisation chart. 

0 z 
<( 

8 ii, 
IL.~ 
0 
z < :c u 

I Director 

I 
I 

r-h D D D 
Subordinates 

I Q Line managers 

I 
I I I I 
D D D D 
<~===;> 
SPAN Of CONTROL 

(4) 

Line mana,aer& can pass on 
authority to their subordinates 
through dele,aation. 

----------------~-- ·-----------------Centralised or decentralised? 
• Centralised decisions are made by senior 

managers (normally at head office) . 
• Decentralised decisions are delegated 

to reqional employees at local stores and 
branches. 
Centrali'"c:I Decentrali5ec:I 

Increased control and Decisions devolved to branches 

standardisation or divisions that may know thei r 
local customers better -

Decisions can be slow Loss of control 

I 
I 

I 

Size 
As businesses expand they will naturally 
employ more people, increasinq the 
chain of command and span of control. 
The size and structure of an orqanisation 
can have an impact on communication, 
control and flexibility of a business. 
A business can downsize (reduce size) 
or delayer (reduce the number of 
layers in the hierarchy) to: 
• reduce costs 
• improve efficiency 
• improve communication . _________ .. ____ . ------~----------------

- ,o..---- -

Worked example 0 You need to give a clear benefit of reducing the 
number of layers and then develop two arguments 

Explain one reason why a business might about the _knock-on effect of this (such as operating 
choose to reduce the number of layers in its more efficiently and increasing profitability). 
organisational structure. (3 marks) ' - - - --------
Making an organisation's struct ure flatter 
can reduce costs and unnecessary 
employees. As a result , the organisation 
could operate more efficiently and this could 
lead to increased profitability. 

Now try this 
Define the term 'span of control '. (I mark) 
Explain one drawback to a business of having 
a long chain of command . (3 marks) 
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M aking hU~~n 

resourceclecisions The importance of 
effective communication 

Good communication is extremely important in business. Effective communication ensures 
that the business's vision, mission and objectives are clear, that customers are able to 
underst and its product s and services, and that employees feel motivated because they 
understand their role wit hin the business. 

The communication process 
For communication to be effective: 
• t he senc:le r has to choose an 

appropriat e mec:lium to reach the 
receiver 

• feec:lbacl:. should also be available 
t o ensure the communication has 
been successful. 

Impact of poor communication 
Insufficient or excessive communicat ion can 
have an impact on: 
(0 employee motivation 
(0 customer service 
(0 the number of mistakes made 
(0 t he understanding of employees 
(0 t he efficient implementation of decisions 

the image/brand of the business (through 
advertising). 

-----------------------------------Types of communication 

formal communication 
is approved by the 
organisation . It follows 
set rules of communication 
used within a business. 

Informal communication 
(e .g. gossip) is also used in 
business: It can get in the way 
of effective communication. 

Barriers to effective 
communication 
• Using inappropriate mediums 

or email system failure. 
• Being angry or tired. 
• Cultural differences. 
• Use of jargon. This depends 

on the skill or knowledge of 
the sender or receiver. 

• Too much or too little 
information. -----------~----- - - - - -

78 

Information overload 
Worked exam ple 

When workers are faced with too Explain one barrier to effective business communication. 
much information (e.g . receiving (3 marks) 
more than 100 emails a day One barrier to effective communication is cultural 
or complicated instructions), differences. When a business is working with a 
their motivation and efficiency foreign company, employees in the two businesses 
will fall. Managers must ensure may not understand cultural references or meaning. 
communication is controlled and This can lead to mistakes being made, such as the 
organised effectively to ensure wrong product being shipped, which could lead to 
that this does not happen. customers receiving t he wrong products. 

1 -
Now try this .. - - - - - - - - - - ... The student has developed . itJI their explanation with two points I 

{ 
of development and given a 

Discuss the likely benefit to a business of good communication. relevant example. 
(6 marks) J 
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if erent ways of ource dec1·s. 1ons

working 
People do not have to work for just one business operatin,a from a particular location. 
The ,arowth of technolo,ay and flexible workin,a arran,aements mean that employees can work 
from home or on the road, and businesses can employ workers when the need arises. 

full-time 

hou� 

P art-time 

\hours 

flexible 

Types of hour5 

worker 

freelance 

contract I 
Temporary 

contract 

Permanent 

contract 

Flexible working 

If a business can use flexible workin,a contracts, 
it has more control over its costs and can 
increase or lower its capacity when it needs 
to. Freelance contracts are o�en used when a 
business needs to employ a specialist, such as 
a consultant or accountant, for a short period 
of time. However, the problem with flexible 
contracts is that employees mi,aht not be very 

committed to the business if they do not have 
lon,a-term job security. 

--------------------�---
The impact of technology on ways of working 

• Remote working - Employees can work from home while keepin,a in touch with collea,aues
throu,ah teleconferencin,a and email. Workin,a arran,aements can be a,areed to meet the
needs of the business and its workers, e.,a. workin,a from home one day a week.

• Video conferencing - Face-to-face communication and presentations can be streamed
live over the internet so that employees no lon,aer need to travel lon,a distances to
meet clients or share important information. This is more efficient as employees do not
have to spend time and money travellin,a.

• Management information &y&tem& - Business intranet systems hold vast amounts of

information that employees can access usin,a a computer anywhere in the world.

- - - - - ----------------
-

--

Worked example 0 
Discuss the impact on a business of employing workers on permanent contracts 
instead of flexible hours contracts. (6 marks) 

With a permanent contract. employees will feel as though they have 
more job security and this may mean they are more motivated at 

work. As a result, they are going to be more productive. Furthermore, 
if an employee has a flexible hours contract. they may not have a 
guaranteed income and may look for a job elsewhere. This could lead 
to high rates of labour turnover. which may have an impact on the 
business·s productivity and could result in a rise in recruitment costs. 

The student has 
considered two 

reasons why one 
form of employment 
is better than 
another. They have 
also used business 
terms throughout. 
and developed their 
answer. 

- .. - - -
- - - ----------------------------

---

NoW try this 0 
Define the term ·remote working·. (I mark) 
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Different job roles 
and responsibilities 

Within a business there is a wide ranqe of rolee , which all relate to one another to form the 
orqanisational structure. The role at the top of a business is the manaqinq director (MD) or 
chief executive officer (CEO). 

Key roles and responsibilities 
Role Re~pon~lble for ... Example I 
Directo,·s . overall business performance A CEO 5etting profit target s and making I . bu5iness target -setting and strategy formation key business decisions I - -
Senior managers . management and leadership o f key business The senior managers of a marketing I 

functions d epartment and the emp loyees wi':.'.'_in it_. I Superviso rs and team . lead ing a team o f workers A head waiter supervising a team of five 
leaders . performance management waiting staff, monitoring performance and · . providing training, support and motivation d elivering on-the-job training -
Operational s taff . carrying out the key operations o f a business A designer working in a fa shion compan~ 
Support staff . providing services that support the main A secretary carrying out administrative i 

function of a business work at a d entist's practice 

. ------------------------------------The recruitment process 

Draw up recruitment documents 
lncludinq job adverts, job particulars, 

job descriptions and job specifications 

'°7 
Receive applications 

Throuqh CVs, application forms and letters 

5hortlistinq 
A list of suitable candidates is drawn up 

Selection 
Involves interviews and assessments ; 

references miqht be requested 

'°7 
Training 

To develop skills usinq on-the-job and o ff-the-job 
traininq (all staff , but especially new staff) 

The candidate selected must have the riqht 
ekille (e.-3. the ability to operate computers 
or machines) and attitudes (e.-3. flexibility 
or hardworkinq). 

- - - - --
Now try this -o -----

Shortlisting and selecting candidates 
A number of documents are used in the 
recruitment process to help identify the 
best candidates. These include: 
• <!IPPlication forms 
• curriculum vitae (CV) 
• job descriptions 
• person specifications. 

-
Worked example 

Which two of the following documents are used in 
the recruitment process? 
Select two answers: (2 marks) 

A Job description 
0 B Business plan 
0 C Person description 

D Application form 
D E Cash-flow forecast 

A person specification is used in 
recruitment, ri,ot a person description. 

__________ ._. ____ _ 

' Explain one reason why a business might employ team leaders. (3 marks) 
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Effective recru.itm.ent arce decisions 

As small businesses grow, they may employ workers to fill new roles in the business. 
Businesses want the ri13ht employee& for the job. The recruitment process is crucial in 
achieving th is. 

Job description 
A job description contains the essential 
information about a job role . It will include: 
• the job title 
• who the person is responsible to (line manager) 
• who the person is responsible for 

(subordinates) 
• the key duties 
• the salary or wage . 

Person specification 
A person specification contains a 
description of the characteristics, 
qualifications, experience and skills 
that are required to meet the needs of 
the job description. These factors are 
normally broken down into: 
• essential characteristics (must have) 
• desirable characteristics (would like). 

--------------------------Curriculum vitae (CV) CV 

A CV is a document that lists a person 's experience 
and qualifications, including details of their: 

Prevlou5 C')IJ>erlence 

fduc.i Ion I 

• education and qualifications 5klll5 I /1 I 

• employment history 
• skills and experience 
• references from current or previous employers. 

CVs can be used to give an employer 
an oveiview of the qualifications and 
experience of potential employees. 

----------------Ty pes of recruitment 
Internal recruitment 
Promoting an employee who currently 
works for the business to a new role. 

t Fast and easy to advertise vacancy. 
Cheaper than external advertising. 
Candidates already know the business 

so will be more efficient from the beginning. 
ti Promotion opportunities motivate current employees. 

External recruitment 
Recruiting someone who does not 
already work for the business. 
ti More potential applicants. 

New ideas and skills brought into 
the business. 
ti Suitable if the business is growing and needs more 
employees. 

Techniques used to help identify the best candidate 
for a job may include interviews, test!>, role plays, 
group discussions and candidate presentations. 

- - -
Worked exam ple o --------

Explain one reason why a business might use ex terna l recruitment. (3 marks) 

A business might use external recruitment if it ·intends to expand. By using external 
recruit ment, t he business wi ll attract a wider number of new candidates from outside t he 
o rganisat io n t o help it g row in size These candidates might also bring 1n new ideas 
a~d ~ ills that help the busmess g row 

- -- -==---- --

Now try this 
_ 0 .. _____ . The student has shown a good understanding 

of external recruitment. The two points of 
development are linked to t he rea,5on t hat 

Define the term 'person specification'. (I mark) they have given (intending to expand). 
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Developing el1\ployees 
A business is only as good as its employees, which is why employee development is 
so important to businesses. Employee training and development improves the business's 
knowledge and ski lls . 

Formal training Informal training 
Employees attend specific training 
courses to improve their skills. These 
courses: 

Employees learn skills 'on-the-job' , by 
developing skills and experience over time or 
by being coached by other employees. This: 

may be provided by external 
companies who are subject or industry 
specialists 

ti is cheaper and less-time consuming than 
formal learning 

may offer formal accreditation or 
qualifications 

gives employees real or 'hands-on ' 
experience 

ff? can be expensive and time-consuming 
ff? may require employees to stop 
working while they are training, so 
productivity falls. 

may be stressful for employees if they are 
doing the job without all of the necessary skills 
ff? may mean that employees have to take 
responsibility for seeking or providing training. 

~----------------------· ------~-----Performance management 
All employees in a business should receive performance 
mana"3ement. This involves settin"3 tarc.3ets for personal 
development and performance, and agreeing these 
targets with their line manac.3er. Performance manac.3ement 
may be used to support internal promotion and pay 
pro"3ression. Performance management meetinc.3s are 
formal and may take place several times a year. 
It is likely that ongoinc.3 traininc.3 will be made part of an 
employee's personal development, e.g. c.3aininc.3 relevant 
qualifications or attendinc.3 external training courses. 
These may be set as tarc.3ets. 

~rformance mana<3ement fom, 
Outcome5 Deadline Support 

Tar<3et 1 

Tar<3et 2 

Target 3 
L--

Performance manat3ement 
document5 are a formal 
record of an at3reement 
between an employee 
and their line mana43er. 

I 

-~------------------------------~-~----
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----
Worked exam ple 0 The student has developed 

their explanation, making a link 
between training employees 

Explain one reason why a business might send its employees on an and the impact that this 
external training course. (3 marks) will have on the business. 
A business might send its employees on an external course in Alternatively, t he studen_t 
order to develop new knowledge and skills. This means that could have explained that 

_ ,__ 

Now try this 

the employees will then be better equipped to do their job external train ing may brinq 
and the productivity of the business will increase. skills into the business that 

do not already exi.st or may 
... - - - - - - - - - - allow employees to be trained , 

by recognised specialists in a 
particular subject or industry. 

Which one of the following is not a method of tra in ing employees1 

Select one answer: (I mark) 
D A Conferences D C Paying a good salary 
D B Observing colleagues work D D Gaining a formal quali fica tion 



Had a look D Nearly there D Nailed it! D 

The i1mportance 
of training 

Atak.ing hutnan 
resource decisions 

Skills - training employees will improve their skills Motivation _ as employees improve their 
and value to t he business. Having the mo5t 5killed / 5k1115 and knowledge, their confidence will 
employee5 may give a bu5ine55 a competitive ·\ al5o improve. Thi5 can lead to a highly 
advantag e over it5 rivals. motivated and happy workforce. 

- --'- ---<----
The importance of training 

employees 

Retention - inve5ting money in training employee5 5how5 that the bu51ne55 value5 it5 
employees. Thi5 mean5 they are le55 likely to leave to find a job elsewhere , so improving 
the bu5iness's retention rates. --- --------------- .. -------

Technology and training 
New technology has benefits and drawback!> when 
tra ining employees. 

New technology enables training as employees 
can use computer simulations (e.g. pilots and 
surgeons). 

Training can be more flexible and can be accessed 
remotely using webinars and online courses. 

Employees need to be retrained whenever new 
technology is introduced. This can be expensive 
and can lower productivity. 

Self-learning 
Employees can now take 
responsibility for their own 
learning. Many training 
courses are available online for 
employees to complete in their 
own time. 
Technology can also be 
used to record employees' 
performances, e.g. a teacher 
can watch a video of one of 
their own lessons. This makes it 
easier for employees to monitor 
their performance and learn from 
experience . 

Technology can be used as a low-risk method of 
training employee5 to do high-risk tasks. 

--
w~;k~d ~xam ple -0 --- - ... - ... -- - Always try to make two 

clear points within a 
definition. For example, thi s 
student has mentioned 

Define the term 'performance management' . (I mark) ' targets' and 'pay and 
Per formance management is where employees are set targets rewards', both of whic h 
for the year ahead. These targets may be linked to their pay f"1-_ are charact eris t ics of 
and rewards. performance management . 

- ~ --
NoW try this 

Consider the trade-offs that a business faces when 
deciding whether to spend money on employee 
training. What else could they spend this money on? 

Discuss the reason s why a business may choose not to invest in training its employees. (6marks) -
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Making hU';"~n 

resource decisions Motivating employees l 
Motivation is an important factor in running a successful business. A highly motivated 
workforce is more committed to the business and will have a positive impact on customer 
relationships. Motivated employees are also more likely to continue working for the 
business and will be more productive. 

A motivated workforce 
Motivation can: 
(0 create a hard-working and flexible 
workforce, that is willing to 'go the extra 
mile' for the business 
(0 encourage employees to have greater 
commitment to the organisation 
<y; reduce employee sick leave rates 

(0 improve customer service 
(0 improve communication within the 
business 
(0 attract and retain good employees 
(0 increase productivity because the 
workforce is happy. 

---------------~·---------------------
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Financial methods of motivation 
Businesses often use a variety of financial methods, such as remuneration, to motivate 
their employees. Different methods work well for different types of role. For example, a 
commission-based structure works well for sales roles. Choosing the right remuneration 
method will maximise employees' productivity, whereas using the wrong method could waste 
money and fail to provide any benefit. 

Time-based SY5tems Salaries Results-based SY5tems fringe benefits Career . (suitable where output or progression 
success can be measured) . Wages for part-time . For non-manual jobs . Piece rate . Company car . Promotion 

or full-time workers 

I 
. For professional . Commission . Healthcare . Overtime workers 

Bonus schemes . . Pension schemes 
I . Company discounts I 

- - --
Worked example 1 .. - -

@ ______________ ,k"-
. Bow important is money? . •. ,, f I IF.llftll'~ . 

Give two other financial methods of Most people think that 1 
1.' 

motivation, apart from salary and receiving a fair income is l .,, M'.t.all 
payment by the hour, that a business important. However, some \~ -
could use to reward employees. theories of motivation state ..;;,__ ' 

1 Piece rate 
2 Commission 

(2 marks) 1 , G d I r - that money alone 1s not enough 00 per5ona 
relationships 

to fully motivate people in the at work can be 
workplace. Other needs are as an important 
important or even more important motivating factor. f 

motivating factors, such as self- \ 
~ r 

There is no need to explain 
in a 'g ive' question. esteem and the freedom to be creative. I 

-- - --

N oW try this o--_----__ ------- ------------
Explain one benefit to a business of rewarding workers using a piece rate system. (3 marks) 
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business 

Motivating employees 2 e decisions 

Job rotation - ,alves employees the 
opportunity to work. in other areas 
of the business, experience different 
roles and develop new skills. 

Job enrichment - develops 
employees' sir.Ills by ,aivin,a them 
opportunities to lead, mal:e 
k.ey decisions and tak.e on new 
responsibilities. 

~-----''----------L'-----~ 

Non-financial methods 
of motivation 

Teamworkln(il - allows 
employees to develop 
social bonds throu,ah 
bein,a part of a team. 

Employee reward scheme 
- reco,anises employees' 
performance and contribution 
throu,ah schemes, e.,a. 
employee of the week.. ----~-----------~~--------------------

Empowering employees 

I NEWS 
I --.=;;;;;;; 
I \r:, 
I 

I 

Google used to have a policy known as '20% time'. 
This gave employees the freedom to devote one 
day every week to a creative project of their choice, 
in order to develop new innovative products and 
solutions to problems. Many businesses have 
adopted similar policies, with the intention of 
motivating employees by giving them more 
creative freedom in their roles. 

Autonomy 
Autonomy means being 
empowered to make 
your own decisions. 
Employees are often 
more motivated when 
they can make- their 
own decisions and 
choices about the 
best way to work and 
achi.e11e thei~ goals. _ 

---------~-------- --------------------

Worked example 
Discuss the likely benefit to a business of rewarding the achievements of its 
employees. (6 marks) 

By rewarding the achievements o f its employees, a business wi ll be 
helping t o motivate its workforce. This is because the employees 
will feel pride and gain greater self-esteem as a result o f their 

• achievements at work being recog nised. As a result, employees 

The student has 
'-.... developed their 

answer with 
several benefits of 
having a motivated 
workforce. 

"" wi ll feel valued and work harder. This can lead to higher levels of 
productivi ty and better customer service. Motivated workers are also 

, less likely to leave t he business, which means lower rec ruitment and 
, training costs. These savings can be put into the financial rewards, 

such as bonuses, for employees t o further boost motivation. 

-----------------~----- --------------
- e-- - -

No W try this 
,, Explain one advantage to a business of adopting job rotation. 

\ 
(3 marks) f 

85 



86 

Building a 
business 

Bad a look 0 Nearly there O Nailed it! 0 

Case study 
In Sections Band C of Paper 2, you will have to review a full-paqe case study before 
answering questions. You should aim to spend about 10 minutes readinq the case study 
before you attempt to answer any questions. Have a look at the sample case study below, 
then look at the worked examples on the next five paqe5. 

Dellveroo 

Deliveroo is a takeaway food delivery service that was 
established in 2013. The business's smartphone app 
and website allows customers to browse and order 
from restaurants in their local area, with Deliveroo 
charging diners a £2.50 fee for the service. Deliveroo 
uses a network of self-employed cyclists to deliver 
takeaway food from these restaurants. 

Between 2013 and 2017, the business raised more than 
$400 million from investors and was considered to be 
one of the UK's most promising technology companies. Deliveroo employs more than 3000 delivery 
staff in the UK and said in 2017 that its delivery staff can earn an average of £12 per hour, depending 
on their location. However, its employees do not receive the benefits associated with being a full-time 
employee as they are considered contract workers. 

Deliveroo operates in a growing but competitive market. In 2016, the business achieved revenues of 
£ 130 million from operations in more than 10 countries worldwide. In the summer of 2017, it moved 
into a new London office and plans to create 300 new jobs. 

However, Deliveroo is facing increased competition, such as from the taxi app business Uber, which 
launched a London-based food delivery service called UberEATS in 2016. 
Figure 1: Value of worldwide 
takeaway delivery brands (2016) 

Key 
Just Ea t 
Grubhub 

D Delivery Hero 

~ -

Deliveroo 
D Takeaway.com 

Foodpanda 

Figure 2: Percentage of takeaways ordered 
on line and delivered in the UK 
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Source: The NPD Group/CREST•, year ending June 201 s 

Now try this -------------------··---- ..... -
Read the case study above. 

. (a) Highlight all of the key business terminology in the case study. 
1 (b) Identi fy one human resource decision that Deliveroo has made. 

(c) List the benefit s and the drawbacks of Deliveroo's business model. 
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Exam skills 

Short-answer questions 
- - 0 Worked exam ple 

Define the term 'self-employed ' . (I mark) 

Self-employed refers to so meone who 
works for themselves and does no t have a 
permanent contract t o work for a business. 

This is a good answer. The student could' 
also have made reference to self-employed 
people not having the same benefits and 
rig hts as full-time employed workers. 

- -- - -

'Define' questions 
Try to answer a 'define' question in no 
more than two sentences. 

g_- look at the glo,,a,y oa I O.AiliiiliiJ page 93 for definitions 
o~ ~ ~ u~ ines.:_:erm~nology. 

I 

----------------------------------

~GQrn()Pp 'Identify' questions Worked exam ple 0 
An 'identify' question requires you to 
interpret information from a source, such as 
charts, e:,raphs, infoe:,raphics, text or financial 
accounts. 

Using the information in Figure 1 (see page 
86), identify the worldwide market leader in 
the takeaway delivery industry in 2016. 

(I mark) 

r:;;:mry, motta The student has . 
interpreted the pie 

chart correctly to identify Just Eat as the 
business with the largest value. This would 

_. Just Eat 

suggest they are the marke~ e_r. ___ _.. 

am, You can revise I 
interpreting graphs 

and~ ha~ ~ 75. __j 
------------------- ------~ --------

Worked example 0 
Outline one method of raising capital that 
could be used by a limited company such as 
Deliveroo. (2 marks) 

'Outline' questions 
An 'outline' question should always e:,ive a 
point with some form of development or 
explanation. The answer must also be in 
cont ext . 

The student's answer is in context since the ·, I 
A limited company such as Deliveroo 
could raise capital through selling 
shares in t he company. However, it 
could not raise capital by selling 
shares to the public as it is not a 
public limited company. 

method identified is appropriate for a private 
limited _company. There is also some development 1\-, in relation to the limitations of share capital as a 
private limited company. 

&m You can revise ra ising capit al 
to finance g rowt h o n page 51 . 

---- ~---------- ~-- -------- ---------
Now try this 0 
Outline one reason why Deliveroo might use self-employed cyclists and drivers. (2 marks) 
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'Calculate' questions 
liliiffia Using the case study 

- -- - --· -

Worked exam ple 0 In t his 'calculate ' question , the student 
has been given one piece of info rmation Consider a scenario whereby Deliveroo 
(net p rofit £15 mill io n) . The student also generated a net profit of £15 million in 201 6. 
has to use the case study to identify Taking the above statement to be true, calculate 
the o t her p iece of information needed to the net _profit margin for Deliv~roo in 201 6. You 
complete the net p rofit margin calculation I are advised to show your workings. (2 marks) 

(sales revenue of £130 million) . , . \],EARN ITU 
N t f't . _ Net profit 0 ~™ This student has learned the e pro I margin - Sales revenue x 1 O 

&!I~ net profit margin formula and £ 15 million = 0 11538 
their answer shows their workings so it is clear £ 130 million · 
to see how t hey have reached the answer: 0 .11538 x 100 = 11.54% 

.I"\ . 201G net profit margin = 11 .54% (1/- You ~an revise net profit 1 --- .,, 
margin on page 74. --------- --------------------~-

Worked exam ple 
l 0 

Using the information in Figure 2 (see page 86), l 
calculate the percentage growth rate of the UK 
online order and delivery market since Deliveroo 
launched in 2013. You are advised to show your 
workings. (2 marks) 

\},EARN IT}] '\ 
Increase in size 

% growth = Original size x 100 

8 
32 = 0 .25 
0 .25 X 100 = 25% 

Market growth= 25% 

Q The student has used 
&!I f igure 2 to work out 
that there has been an increase of 
8 percent age points (3 2% t o 40%) since 
Deliveroo launched in 2013. 

Quantitative 
skills 

if.W Calculating 
percentage increase 
Percentage increase is a key calculation 
that you may have to perform in your 
exam. This could be a percentage 
increase in sales revenue, profit , costs, 
interest rates or market growth. 

A common mistake might 
have been to give 8% 

as the answer: However, this is simply the 
increase in the proportion of takeaway 
meals that are ordered online for delivery, 
not t he growth of the online order and 
delivery market . 

---- ----------------------~------------

88 

- - =--
Now try this 0 

Natalya is planning to set up her own takeaway delivery business. The following information is taken from 
her business plan . 
Year I sales revenue: £20 000 
Year I cost of sales: £ 13 725 

Calculate Natalya 's expected gross profit margin in Yea r I. (2 marks) 
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'Analyse' questions 
0 Worked example 

Analyse the impact on Deliveroo of not 
having its own restaurants. (6 marks) 

As Deliveroo does not have it s o wn 
rest aurant businesses, it is able t o 
keep its overhead cost s very low. 
Even t hough Deliveroo has a head 
office in Lo nd o n, it does not need 
t o rent expensive locations o r have 
bases from which its delivery drivers 
work. With low overheads, Deliveroo 
is able t o make a greater cont ribut ion 
t o wards profits on every o rder that 
it d elivers. 

One issue with not having it s own 
restaurants is that Del iveroo relies 
on partnersh ips with rest aurant 
businesses. If Deliveroo's suppliers 
(the restaurants) decided not t o use 
the business o r agreed contracts 
with other firms such as Just Eat, 
then Deliveroo could quickly go out 
of business. If Deliveroo eventually 
grew into its own restaurant chain, 
then it would start to gain economies 
of scale as it would be able to make 
a g reater profit on every order it 
d elivers 

' How else could you link this 
answer to the context of 
_Deliveroo? Try to identify two 
issues relating to Deliveroo that 
you might connect in your own 
answer to this question. 

'Analyse' questions 
An 'analyse' question is very similar to 
the 'discuss' questions that you will find 
in Section A of Paper 1 and Paper 2. 
However, an 'analyse' question needs to 
be answered in the context of the case 
study. For example, an answer in context 
may use specific information in the case 
study to make assumptions or conclusions. 
It may also apply the nature of the business 
(Deliveroo is a delivery business) or the 
nature of the product (takeaway food). 

The first paragraph in this answer explains a 
benefit to Deliveroo of not running its own 
restaurants (low overhead costs). Another 
benefit might be that Deliveroo can focus_ on its 
core business of delivery, rather than having to 
compete in the takeaway food market. 

'\ . . 
This answer is clearly in context because 
the s~udent refers to Deliveroo's ' head 
office and ~ ompetitors such as '.Just Eat'. 

The second paragraph analyses the 
limitations of Deliveroo not having its own 
restaurants. The student has explored 
the relationship between Deliveroo and 
its suppliers. The student could have also 
discussed the fact that Deliveroo can 
only make a smal l profit on each delivery. 
As the business grows, it could expand 
into other markets in order to increase its 
potential profits. 

Your answer needs to consid ---------· ___ .... ---------1 th er 
e context of the case stud c· 

_ ,_.... ~ --

Now try this 0 th. y In 
is case, Deliveroo). 

Analyse the impact on Deliveroo of using self-employed workers instead of permanent employees. (6 marks) 
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'Justify' questions 
.--- -----------~ 

'Justify' questions 
A 'ju5tify' que5tion require5 
you to con5ider two different 
option5. Thi5 might include 
con5idering the relative 
benefit5 and drawback5 of 
two alternative 5trategie5. 
Your an5wer will need to be in 
context and mu5t fini5h with a 
ju5tified conclu5ion ba5ed on 
your analY5i5. 

Balance 
A balanced answer identifie5 
the benefit5 and drawback5 of 
5omething. U5ing balance is a 
good technique when an5wering 
'justify' and 'evaluate' que5tions. 

---

0 - =--
Worked exam ple 

Deliveroo is looking to expand its business and is considering 
one of two options to increase sales. The two options are: 
Option I: Increasing the number of restaurants it works with 
Option 2: Promoting the Deliveroo app through advertising 
Justify which one of these two options would most help 
Deliveroo increase sales. (9 marks) 

Increasing t he number of partner restaurants could 
al low Deliveroo to offer a wider range of products 
to Its customers, such as different types of food or 
food from less common cuisines. This could attract 
more customers as there may be people whose 
needs are not being met by the current range of 
foods delivered by Deliveroo. It may also help it to 
expand into new areas of t he UK, where customer 
needs may not be fulfilled. However; increasing the 
range of restaurants may take a long time so will not 

The student has shown an B increase sales in the short term. 
understanding of customer needs f "' On the other hand, promoting the Deliveroo app 
and considered the advantages will make people more aware of the service that 
and disadvantages of Option 1. Deliveroo offers. Th is will encourage people to 

• download the app and try the service, especial ly 
The student has shown an \ if Deliveroo introduces a special offer such as free 
understanding of the benefits and delivery on t he first order. Furthermore, promoting 
drawbacks of advertising. They have the app might encourage some customers who 
also demonstrated context by giving already use other delivery services, such as 
an example of a competitor ('Hungry Hung1·y House, to switch to Deliveroo. On the 
House') and referring specific<1lly to the other hand, increasing advertising wil l increase 
Deliveroo app (' download the app'). the business's costs. 

&fB· You can revise advertising 
on pages G3 and G4. 

Overa ll, I believe it is better for Deliveroo to 
spend money advertising its app. Alt hough building 
links with more restaurants will increase customers· 
choice, it wil l not directly increase the number 

This _paragraph gives the student';, of people using Deliveroo in the short term as it 
conclusion. They have made a decision already delivers for a wide range of restaurants. 
and provided a justification for their The decision may depend on the popularity of the 
choice, as well as explaining a limitation restaurants t hat Deliveroo is in partnership with. 
of the option they have not chosen. 

The student has made good use of an ' it depends' statement. -- ~ -

Now try this 

Deliveroo is considering two different options to finance its plans to expand into a new country. The two 
options are as follows. 
Option I: Raising additional share capital from investors 
Option 2: Crowd funding 

Justify which one of these two options would be the most appropriate method of financing its plans. (9 marks) 
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'Evaluate' questions 
worked. example 0 

Evaluate the impact on Deliveroo ·s long-term success of not providing it s 
delivery workers the same rights as permanent employees. You should use the 
in fo rmation provided as well as your knowledge of business. (12 marks) 

The 5tudent:s first 
pi:lragraph offers a 
number of limi tations and 
drawbacks for Deliveroo 
of not providing 
its workers with 

Im proving an answer ~, employment benefits. 
By paying its delivery staff as contract workers. Deliveroo has a:Jr" 
been able to_ create a flexible workforce and to employ people This ts just par t of ;:i i 

who are looking for both full- and part-t ime work deliverina for st d t It . 
. . -J u en answer 15 

the company. By having a flexible workforce Deliveroo can keep t ..,l I It . ' no a moc.e answer 
costs down wh ich has meant t hat the capital it has raised could ~ • 

1 
f . . . 1s a samp e answer or 

be invested 1n developing the app. build ing relationships with t . · you o improve. 
restaurants and promoting the brand. Furthermore, this approach 

The second paragraph of 
has kept labour cost s low and, although we do not know how 
much profit Deliveroo made in its first three years, this will 
certainly have helped the business achieve a good profit margin. this answer has not been 
Using contract workers also makes it easier to recruit t he 300 0 included here. H~wever, k 
delivery workers that Deliveroo needs in order to meet demand. this paragraph might 1

_
00 

.A..a at some of the limitations 
... Overall, paying delivery staff as contractors has allowed or risks of not providing 
Deliveroo t o be very compet it ive because it does not have t o its delivery workers 
pay National Insurance and offer hol iday or sick pay. This has led with benefits and good 
to Deliveroo being able to g row very quickly in its first three working conditions. 
years of trading. However. to secure t he long-term success 
of t he business, it is important that Deliveroo starts to 
invest in its workers now that it can afford to do so, in order 
to ensure that its ethical reputat ion is not damaged, which 
may cause customers to choose other delivery services 
t\1at provide better conditions for their employees. 

The student has used their 
knowledge of ethics and 
motivation to answer this question. 

O:~ Turn t o page 5 7 for a 
reminder about ethics. ---------------------- Turn to pages 84 and 8 5 to 

revise motivation. 
--

Marking an 'evaluate' answer 
The following bullet points are taken from Level 3 (9-12 mar!G) of the mark scheme used 
to mark an 'evaluate' question. Do you think the student's answer meets these criteria? 
(0 Demonstrates accurate knowledge and {0 Deconstructs business information and/ 
understanding of business concepts and or issues, finding detailed interconnected 
issues throughout, includine:, appropriate points with loe:,ical chains of reasonine:, 
use of business terminology (A01b). (A03a) . 
(0 Detailed application of knowledge and Draws a valid and well-reasoned 
understanding of business concepts and conclusion based on a thorough evaluation 
issues to the business context throughout of business information and issues (A03b) . 
(A02) . 

-------------- ---------------------------~ -
Now try this Ensure that the paragraph you write is in the context of Deliveroo 

. 

Write the second paragraph needed to complete the student's answer to the 'evaluate' question. 
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Form.u!ae 
You will not be given these formulae in the exam, so you need to learn them! 

(!;EARN IT!] 

Total costs 
Total costs (TC) = Total fixed costs (TFC) + Total variable costs (TVC) 

Variable costs 
Variable costs = Cost of one unit x Quantity produced 

Revenue 
Revenue = Price x Quantity 

Break-even 
Break-even point in units = Fixed costs 

(Sales price - Variable cost) 

Break-even point in costs / Revenue = Break-even point in units X Sales price 

Marg in of safety 
Margin of safety = Actual or budgeted sales - Break-even sales 

Interest (on loans) 
Interest (on loans) in% = Total repayment - Borrowed amount x 100 

N t h fl 
Borrowed amount e cas ow 

Net cash flow = Cash inflows (receipts) - Cash outflows in a given period (payments) 

Ope ning and c losing balances 
Opening balance = Closing balance of the previous period 
Closing balance = Opening balance + Net cash flow 

Profit 
Profit / loss = Total revenue - Total costs 

Gross prof it 
Gross profit = Sales revenue - Cost of sales 

Gross profit margin 
Gross profit margin (%) = Gross profit x 100 

f 
·t Sales revenue Net pro 1 

Net profit = Gross profit - Other operating expenses and interest 

Net profit margin 
Net profit margin (%) = Net profit x 100 

Sales revenue 

Average rate of return 
Avera e rate o f return (%) = Average annual profit (fotal profit/ No. o f years) x 100 

g Cost of investment 

Perce ntag e g rowth 
Percenta e growth = Increase in size x 100 

g Original size 


	Pg 49(a) 2.1.1 Business growth.pdf
	Pg 50(b) 2.1.1 Business growth-Public limited companies.pdf
	Pg 51(c) 2.1.1 Business growth-Financing growth.pdf
	Pg 52 2.1.2(a) Changes in business aims and objectives-Why business objectives change.pdf
	Pg 53 2.1.2(b) Changes in business aims and objectives-How business objectives change.pdf
	Pg 54 2.1.3(a) Business and globalisation-Imports exports and multinationals.pdf
	Pg 55 2.1.3(b) Business and globalisation-International trade.pdf
	Pg 56 2.1.3(c) Business and globalisation-Competing internationally.pdf
	Pg 57 2.1.4(a) Ethics, the environment and business-Ethics and business.pdf
	Pg 58 2.1.4(b) Ethics, the environment and business-Environmental issues.pdf
	Pg 59 2.2.1(a)  Product.pdf
	Pg 60 2.2.1(b) Product.pdf
	Pg 61 2.2.2(a) Price- The importance of price.pdf
	Pg 62 2.2.2(b) Price- Pricing strategies.pdf
	Pg 63 2.2.3(a) Promotion-Features and methods.pdf
	Pg 64 2.2.3(b) Promotion-Promotion, branding and technology.pdf
	Pg 65 2.2.4 Place.pdf
	Pg 66 2.2.5 Using the marketing mix to make business decisions-Integrated marketing mix.pdf
	Pg 67 2.3.1(a) Business operations-Business operations and production.pdf
	Pg 68 2.3.1(b) Business operations-Business operations and technology.pdf
	Pg 69 2.3.2(a) Working with suppliers-Managing stock.pdf
	Pg 70 2.3.2(b) Working with suppliers-suppliers and procurement.pdf
	Pg 71 2.3.3  Managing quality.pdf
	Pg 72 2.3.4 The sales process- Customer service and the sales process.pdf
	Pg 73 2.4.1 Business calculations (a) - Gross and net profit.pdf
	Pg 74 2.4.1 Business calculations (b) - Profit margins and ARR.pdf
	Pg 75 2.4.2 Understanding business performance (a) - Interpretation of quantitative data.pdf
	Pg 76 2.4.2 Understanding business performance (b) - Use and limitations of quantitative data.pdf
	Pg 77 2.5.1 Organisational structures (a)- Different structures and appropriate structure.pdf
	Pg 78 2.5.1 Organisational structures. (b) - The importance of effective communication.pdf
	Pg 78 2.5.1 Organisational structures. (b) - The importance of effective communication.pdf
	Pg 79 2.5.1 Organisational Structures (c)- Different ways of working.pdf
	Pg 79 2.5.1 Organisational Structures (c)- Different ways of working.pdf
	Pg 80 2.5.2 Effective recruitment (a) - Different job roles and responsibilities.pdf
	Pg 80 2.5.2 Effective recruitment (a) - Different job roles and responsibilities.pdf
	Pg 81 2.5.2 Effective recruitment (b) - JD's and PS's.pdf
	Pg 82 2.5.3 Effective training and development (a)- Developing employees informal and formal training.pdf
	Pg 83 2.5.3 Effective Training and development (b) -The importance of training.pdf
	Pg 84 2.5.4 Motivation (a).pdf
	Pg 85 2.5.4 Motivation (b).pdf
	Pg 86 Case Study example Paper 2.pdf
	Pg 87 Short Answer Q's.pdf
	Pg 88 Calculate Q's.pdf
	Pg 89 Analyse Q's.pdf
	Pg 90 Justify Q's.pdf
	Pg 91 Evaluate Q's.pdf
	Pg 92 Formulae.pdf


{"type":"Document","isBackSide":false,"languages":["en-us"],"usedOnDeviceOCR":true}


{"type":"Document","isBackSide":false,"languages":["en-us"],"usedOnDeviceOCR":true}


{"type":"Document","isBackSide":false,"languages":["en-us"],"usedOnDeviceOCR":true}


{"type":"Document","isBackSide":false,"languages":["en-us"],"usedOnDeviceOCR":true}


{"type":"Document","isBackSide":false,"languages":["en-us"],"usedOnDeviceOCR":true}


{"type":"Document","isBackSide":false,"languages":["en-us"],"usedOnDeviceOCR":true}


{"type":"Document","isBackSide":false,"languages":["en-us"],"usedOnDeviceOCR":true}


{"type":"Document","isBackSide":false,"languages":["en-us"],"usedOnDeviceOCR":true}


{"type":"Document","isBackSide":false,"languages":["en-us"],"usedOnDeviceOCR":true}


{"type":"Document","isBackSide":false,"languages":["en-us"],"usedOnDeviceOCR":true}


{"type":"Document","isBackSide":false,"languages":["en-us"],"usedOnDeviceOCR":true}


{"type":"Document","isBackSide":false,"languages":["en-us"],"usedOnDeviceOCR":true}


{"type":"Document","isBackSide":false,"languages":["en-us"],"usedOnDeviceOCR":true}


{"type":"Document","isBackSide":false,"languages":["en-us"],"usedOnDeviceOCR":true}


{"type":"Document","isBackSide":false,"languages":["en-us"],"usedOnDeviceOCR":true}


{"type":"Document","isBackSide":false,"languages":["en-us"],"usedOnDeviceOCR":true}


{"type":"Document","isBackSide":false,"languages":["en-us"],"usedOnDeviceOCR":true}


{"type":"Document","isBackSide":false,"languages":["en-us"],"usedOnDeviceOCR":true}


{"type":"Document","isBackSide":false,"languages":["en-us"],"usedOnDeviceOCR":true}


{"type":"Document","isBackSide":false,"languages":["en-us"],"usedOnDeviceOCR":true}


{"type":"Document","isBackSide":false,"languages":["en-us"],"usedOnDeviceOCR":true}


{"type":"Document","isBackSide":false,"languages":["en-us"],"usedOnDeviceOCR":true}


{"type":"Document","isBackSide":false,"languages":["en-us"],"usedOnDeviceOCR":true}


{"type":"Document","isBackSide":false,"languages":["en-us"],"usedOnDeviceOCR":true}


{"type":"Document","isBackSide":false,"languages":["en-us"],"usedOnDeviceOCR":true}


{"type":"Document","isBackSide":false,"languages":["en-us"],"usedOnDeviceOCR":true}


{"type":"Document","isBackSide":false,"languages":["en-us"],"usedOnDeviceOCR":true}


{"type":"Document","isBackSide":false,"languages":["en-us"],"usedOnDeviceOCR":true}


{"type":"Document","isBackSide":false,"languages":["en-us"],"usedOnDeviceOCR":true}


{"type":"Document","isBackSide":false,"languages":["en-us"],"usedOnDeviceOCR":true}


{"type":"Document","isBackSide":false,"languages":["en-us"],"usedOnDeviceOCR":true}


{"type":"Document","isBackSide":false,"languages":["en-us"],"usedOnDeviceOCR":true}


{"type":"Document","isBackSide":false,"languages":["en-us"],"usedOnDeviceOCR":true}


{"type":"Document","isBackSide":false,"languages":["en-us"],"usedOnDeviceOCR":true}


{"type":"Document","isBackSide":false,"languages":["en-us"],"usedOnDeviceOCR":true}


{"type":"Document","isBackSide":false,"languages":["en-us"],"usedOnDeviceOCR":true}


{"type":"Document","isBackSide":false,"languages":["en-us"],"usedOnDeviceOCR":true}


{"type":"Document","isBackSide":false,"languages":["en-us"],"usedOnDeviceOCR":true}


{"type":"Document","isBackSide":false,"languages":["en-us"],"usedOnDeviceOCR":true}


{"type":"Document","isBackSide":false,"languages":["en-us"],"usedOnDeviceOCR":true}


{"type":"Document","isBackSide":false,"languages":["en-us"],"usedOnDeviceOCR":true}


{"type":"Document","isBackSide":false,"languages":["en-us"],"usedOnDeviceOCR":true}


{"type":"Document","isBackSide":false,"languages":["en-us"],"usedOnDeviceOCR":true}


{"type":"Document","isBackSide":false,"languages":["en-us"],"usedOnDeviceOCR":true}

